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1000 —

1. (Cash on Hand)

2. (Cash Equivalent)
@D ;

(2 ;

(€)) ;

4) ;

5 ;

(6)

(@Y

(2 ,
(3 ,

€9 ,

(5 ,
(6)

D ,
(8 ,

(@Y

(2)



@) ,
(2) N N N
(3)
2.
C 9.2. 1INORWAY
1/1 50 @15 750. 00
6/1 100 @18 1,800. 00
12/1 30 @19 570. 00
12/31 55 3,120. 00
12/1 30 19. 00 570. 00
6/1 25 18. 00 450. 00
55 1,020. 00
— $2.,100. 00
$2,100. 00
$1,020. 00
—_— $1,020.00



1002

1/1 50 15. 00 750. 00
6/1 5 18. 00 90. 00
840. 00
$2,280. 00
—_— $2.,280. 00
I $ 840. 00
I $ 840. 00
4.
1/1 50 15. 00 750. 00
6/1 100 18. 00 1,800. 00
12/1 30 19. 00 570. 00
180 3,120. 00
_ 3120
=g — 1733
55 17.33X55=953. 15
$2.,166. 85
$2,166.85

$953. 15



1003 —

— $953. 15

5.

C 9.2. 2INORWAY

1/1 | 50 60 3,000 1/1 | 50| 60 3,000
2/10 | 200 | 70 | 14,000 2/10 |250] 68 | 17,000
5/2 | 175 | 68 | 11,900 | 5/2 | 75| 68 5,100
7/5 | 300 | 75 | 22,500 7/5 |375|73.60| 27,600
9/7 | 300 |73.60| 22,080 | 8/7 | 75 |73.60| 5,520
12/8 | 500 | 80 | 40,500 12/31(575|79. 16| 45,520
_— 475 $34, 780
— $34, 780
— 475 $45, 520
— $34, 780

6.

b

b

(15+18+19) +3=17.33
: 17.33X55=953. 15

125

$2, 166.25




— 55

’

9.2.3) NORWAY

9.2.4) NORWAY

9.2.5) NORWAY

b

9.2.6) NORWAY

$3, 600.00

$2, 166.25
$953. 15
$953. 15

$2, 400.00,

$ 2, 400.00
$2, 400.00
$2. 400.00,

$ 2, 400.00
$2, 400.00
$ 2., 400.00,

$ 2, 400.00
$2, 400.00

o
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C

C

@V

(2)

C

C

9.2.7) NORWAY

9.2.8) NORWAY
$ 800. 00,

— XX

— XX

9.2.93 NORWAY

9.2.10] NORWAY

$3, 600.
$3, 600.
, $3, 600.00,

$3, 800.
$3, 600.
200.

$14, 200.00, ,
$ 200. 00,

$15, 000.
$ 14, 200.
800.

$ 200.
$ 200.

$3, 750.00 ,

$3, 750.
$3, 750.

$ 800, 00, ,

$ 800.
$ 800.

00
00

00
00
00

00
00
00

00
00

00
00

00
00
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C 9.2.113 NORWAY . 6% . $6, 000.00
’ b Syo b

$6,000.

6

($6,ooo.oo><—><%>: $ 30.

100

$6,030.

b
100

8

(($6,000.00X(1+

($6,090.00><—><%):81.20 $6,008.

100

$21.

$ 30.
$ 30.
$6.,008.
$21.
$6,000.
$ 30.

’ o ’ ’

80 % . :
. 6, 090.00 ( ) X20% ( ) =$1, 218.00

$4, 790.
$1, 218.
$21.
$6, 000.
$ 30.

$1., 218.
( ) $ 100, 000.
$6. 000.
$ 94, 000.

3~
xﬁ)j— $6,090.

00

00

00

00

80

20

00
00
80
20
00
00

80
00
20
00
00

00
00
00
00
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b

b o

$200. 00 NORWAY

— XX

(Accounts Receivable)

’

(Aging Method)

$ X X
$ X X

b

$6, 000.00,

$6, 000.00
$6, 000.00
$6, 290.00
$6, 290.00

$ X X X
$ X X X
(Accrued Receivable),



NORWAY

C 9.2.12) $ 24, 800. 00,
NORWAY
30 30 60 90
~60 ~90
$ 1, 000.00 $500. 00 $ 800. 00 $ 400. 00
$ 4, 000.00 $7, 000.00 $1, 000.00 2, 000. 00
$ 5. 000.00 $2, 500.00 $ 600. 00
$10, 000.00 $9, 500.00 $1, 500.00 $3, 400.00 $ 400. 00
30 1%
30~60 2%
60~90 4%
90 20%
30 $9, 500X1%=$95.00
30~60 $1, 500X2%=$30.00
60~90 $3, 400X4% = $136.00
90 $400X20% = $80. 00

$341.00

b b

b
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C 9.2.13) NORWAY $23, 800.00, $8,
700 . , 5%,

($23, 800— $8, 700.00) X5%=$755.00

b.
( , ),
C.
©)
A. , , :
$ X X X
$ X X X
B. , .
$ X X X
$ X X

$ X X X
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: $ X X X
b.
$ X X X
$ X X X
C.
$ X X X
: $ X X X
d.
$ X X X
: $ X X X
©)
A.
C 9.2.143 NORWAY , $ 20,
000. 00, $18, 700.00, $ 360, 000.00,
5%, . $360, 000.00X5%=9%$18, 000.00
$20, 000.00— $18, 700.00=$1, 300.00
$ 18, 700. 00,
$ 18, 700.00
$ 18, 700. 00
$1, 300.00
$1, 300.00
$ 18, 000. 00

$ 18, 000. 00



— 1011 —

$18,700. 00 $20,000. 00
1,300. 00 18,000. 00
B.
NORWAY $18, 000.00,
$1, 300.00, $ 16, 700.00, .
$ 16, 700.00
$ 16, 700.00
, $18, 000.00, “ ”
$16, 700.00, $ 1, 300.00, $1, 300.00,
$18,700. 00 $20,000. 00
16,700. 00
$ 18, 000. 00, $ 360, 000.00
5%
(2)
D
C 9.2.15) NORWAY 89 $60, 000.00 ,
10% , 60% ,

$60, 000.00X10%=%6, 000.00
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$6, 000.00X60%=%$3, 6000.00

@

90

89

6, 000.00

(Temporary Investment) ,

(

C

)

9.2.16] NORWAY
100

68.00X100 =

$100. 00X 100

(Short—Term Investment)

6
0 J—
><6A><—12—300. 00

68

$6, 000.
$6, 000.
$3, 600.
$3. 600.

$6, 000.
$6. 000.
$3. 600.
$3. 600.

$6, 000.
$54, 000.

YL

200

$6, 800.
200.
$7, 000.

$ 300.

00
00
00
00

00
00
00
00

00
00

00
00
00

00
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$6, 700.00
89/7/1
$6, 700.00
300. 00
: $7, 000.00

89/12/31 , $100.00X100 X6% = $600.00
$600. 00
$300. 00
300. 00

$300.00, 89 1 1 6 31 . NORWAY
, , NORWAY

2.

(D

C 9.2.17] NORWAY YL 500 $ 100,

$50, 000.00,  $101 $50, 500.00 ( )
. \ 875,  $50, 437.50, ,
YL 5% —
( $50, 437.50) $50, 500.00
(2)
C 9.2.183 NORWAY 100 $62.00,
$66. 00,

$ 400. 00
$ 400. 00

$ 64. 00 s
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3

C 9.2.193 NORWAY

2000
$1, 000.00,

: 11

100

1988 2 1

”

$3, 000.00

1987
11

2

$6, 400.00
400. 00
$6, 200.00
400. 00
200. 00

$203, 000.00,

$203, 000.00
$1, 000.00
$ 204, 000.00

$3, 000.00 C $200, 000. oo><6%><13—2)

200, 500, 00

NORWAY

$201, 000.00

$201, 000.00
$3, 000.00
$ 204, 000.00

$ 200, 000.00,
$1, 000.00
$1, 000.00
, 11 1 2 1
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$200, 500.00
1, 000.00
2, 500.00
$3, 00.00
201, 000.00
C 9.2.20) NORWAY 1988 3 1 8%
100 3 1 . YL 5 1 104
100 200 . 102
1 , YL 110 .
1988/3/1 YL
$ 104. 00X 100 $ 10, 400. 00
200. 00
$ 10, 600.00
$ 10, 000. ooxs%x% 133. 33
$10, 466.67
1988/12/31
$ 10, 000.00><8%><%=$533.33
, $10, 466.67— $102X100=$ 266. 67
1989/4/1
$ 10, ooo.ooxs%x%:‘&;%.m
1988/3/1
$10, 466.67
133. 33
: $10, 60.00
1988/12/31 5/1  12/31
$533. 33

$533.

33
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1989/3/1

1988/4/1
. (Original Cost of Assets) .
Life) . (Scrap) (Arbitrary Interest Rate)
(G
1. (Straight Line Method)

b ’

$ 266.
$ 266.

$ 800.
$ 666.
$133.

$11, 000.
266.

$10, 466.
66.

(Estimated Service

67
67

00
66
34

00
67
00
67
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:Zz X100% (
11— 0
= X 100% (
- 12 (
= X (
2. (Working Hour Method)
= — X
(
3. (Unit Production Method)
= — X
(
C 9.2.213 NORWAY , $65, 000.00,
15, 000. 00 s $5, 000.00, 2, 500.00 s

( 9.2.8),

9.2.1)

9.2.2)

9.2.3)

9.2.4)

9.2.5)

9.2.6)

9.2.7)



1018 —

_ $65, 000.00— $5, 000.00

5. 000. 00 X2, 500. 00
=$10, 000.00
4. (Fixed Percentage on Declining Balance Method)
X ( 9.2.8)
: R , n
\Y% , V. n
— _nVn
R=1 v ( 9.2.9)
C 9.2.22] NORWAY $125, 000.00 ,
$8, 500.00, $ 500. 00, 3, .
( 9.2.9)
3
_ . [$8,500.00— $500.00_ .,
R=1 $125, 00.00 00”0
60% ,
T . $125, 000.00X60%=$75, 000.00

I . ($125, 000.00— $75, 000.00) X60%=$30, 000.00
M . ($125, 000.00— $75, 000.00— $30, 000.00) X60%=%$12, 000.00

b b

0 $125, 000.00
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1 75, 000. 00 75, 000.00 $50, 000.00
2 30, 000. 00 105, 000.00 $20, 000.00
3 12, 000. 00 117, 000. 00 8, 000.00
, { p) ,
1.5 o
L 00% ( 9.2.10)
5. (Sum of The— Years— Digits Method)
= — ) X
( 9.2.11)
, A% , S , t , N )
. - 2 (N—t+1)
= (V—95) X—N NEFD ( 9.2.12)
C 9.2.231  NORWAY $20. 000.00,

$2, 000.00, 5



1020 —

1 $20, 000.00

1 $ 18, 000.00 5/15 $6, 000.00 | $6, 000.00 14, 000. 00

2 18, 000. 00 4/15 4, 800. 00 10, 800. 00 9, 200.00

3 18, 000. 00 3/15 3, 600.00 14, 400.00 5, 600.00

4 18, 000. 00 2/15 2, 400. 00 16, 800. 00 3, 200.00

5 18, 000. 00 1/15 1, 200.00 18, 000. 00 2, 000. 00

15 ( ) $18, 000.00

6. (Sinking Fund Method)

A= (V—8) — L ¢ 9.2.13)
A+nD¥—1 T

A .,V . S i . N
7. (Annuity Method)
o 1 i A+D"
A= V=S T375°) G 1 ( 9.2.14)
)

(@Y
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C 9.2.24) NORWAY $10, 000. 00,
20 . o

=($10,000. 00— $2,000.00)+20

= $400. 00
— 400. 00
C 9.2.25) NORWAY $100, 000.00,
, 5%,
= ($100, 000.00— $10, 000.00
% 1 ) 0.05 (140.05)"
(1+0.05)" (140.05)"'—1
= $25, 881.10
, $5, 000.00, $ 20,

(2)

$2, 000.00,

$ 400.
$ 400.

$ 400.
$ 400.

$10, 000.
$9, 600.

00
00

00
00

00
00

10, 000. 00,

881. 10,

$25, 881.
$5, 000.
20. 881.

10
00
10
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A.
C 9.2.26] NORWAY $32, 000.00,
8 $2, 000.00, , $3, 750.00,
$ 15, 000. 00, 8
$1, 100.00, ,
$32, 000.0
1, 100. 00
$30, 900.00
( ) 15, 000. 00
$ 15, 900.00
= 6
( 5,6,7,8,9,10 )
$2, 650.00
. 9
{ » : “ )
) . 20 {
» “ , .7 )
B.
C 9.2.273 NORWAY $ 100, 000.00,
0 $ 10, 000.00, . ,
) $20, 000.00,
($100, 000.00— $20, 000.00) 16 = $5, 000.00
( $9, 000.00) — ( $5. 000.00)
= $4, 000.00
$4, 000.00X3=$12, 000. 00+« .
, , $12,

000. 00, o s
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_ $ 12, 000.00
$ 12, 000.00

— $5, 000.00
— $5, 000.00

12, 000. 00 9, 000.00

9. 000.00

9, 000.00

$27, 000.00, . $27, 000.00—
$12, 000.00=$15, 000.00, . $5, 000.00,
“o . ” , $9, 000.00,
$5, 000.00, .

w DN =

~ N N o o

(G (Good WilD)
1. ,

(@Y
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C 9.2.28] NORWAY o YL . NORWAY

$ 40, 000. 00, $300, 000. 00,
10%, .
a. YL , )
= $40, 000.00X4=%$160, 000.00¢---++
b. YL i

= $300, 000.00X10%=$30, 000.00
= $40, 000.00— $30, 000.00= $10, 000.00
=$10, 000.00X6=%$60, 000.00

c. YL . $30, 000.00
, , $ 10, 000.00 $ 8, 000.00 ,
) $ 20, 000.00, , )
$30, 000.00X5+ %8, 000.00X24+ $2, 000.00X1=$168, 000.00
d. YL , $10, 000.00
$6, 000.00 . . $4, 000.00 .

’

$6, 000.00X10+ $4, 000.00xX4=$76, 000.00

b o

(2)

o oo
.

e

9.2.15)

9.2.16)
9.2.17)
9.2.18)
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C 9.2.29] NORWAY 1988

$ 45, 000.00 $ 15, 000.00
75, 000. 00 45, 000. 00
15, 000. 00 60, 000.00
15, 000.00
$135, 000.00 $ 135, 000.00
NORWAY , , YL , NOR-
WAY
1986 $6., 700.00
1987 7, 500.00
1988 7, 400.00
$1, 800.00, $2, 200.00,
$6. 000.00, $9, 000.00, 9%,

= ($6, 700.00+ $7, 500.00+$7, 400.00) =3

=$7, 200.00

=$45, 000.00— $1, 800.00

= $43, 200.00

=$7, 5000.00+ $ 2., 200.00

=$77, 200.00
$120, 400.00

_ $7, 200.00
9%

= $80, 000.00

= $120, 400.00— $60, 000.00
= $60, 400.00

= $380, 000.00— $60, 400.00

=$19, 600.00

= $13, 600.00

=$19, 600.00— $6, 000.00
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C

9. 2.30]

$50, 000.00, NORWAY

$120,000. 00— ( $150,000. 00— $ 50,000. 00)

= $20,000. 00

(G

C

(Patent)

9.2.313 NORWAY

17

(Leaseholds)

NORWAY

b

o

$20,000. 00,

13

’

$ 150, 000.00,

$120, 000.00

$ 4.,000. 00,

$ 20,000. 00
$20,000. 00

$4,000. 00
$ 4.,000. 00

o
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C 9.2.327 NORWAY YL ) .

$12,000. 00, $4,000. 00, $1,000. 00,
0 ) NORWAY YL .
NORWAY :
D $12,000. 00
— $12,000. 00
)
2) $4,000. 00
$4.000. 00
( )
3 $1,000. 00
$1.000. 00
( )
YL :
$12.,000.00
$12,000. 00
2.
C 9.2.33INORWAY $104. 247. 26 YL
. 6 $20,000. 00,
6%, YL .
.1 :
($104,247. 26— $20,000. 00) * 6%
= $5,054. 84
1

$20,000.000— $5,054. 84
= $14,945. 16



— 1028 —

1 :
$104,247. 26— $14,945. 16
= $89,302. 10
( )
0 $104,247. 26
1 $20,000. 00 $5,054. 84 $14,945. 16 89,302. 10
2 20,000. 00 4,158.13 15,841. 87 73,460. 23
3 20,000. 00 3,207. 62 16,792. 38 56,667. 85
4 20,000. 00 2,200. 07 17,799. 93 38,867. 92
5 20,000. 00 1,132.08 18,867. 92 —
6 20,000. 00 — 20,000. 00
120,000. 00 15,752. 74 104,247. 26
$20, 000.00 .
$20, 000.00 ; ,
. NORWAY YL
NORWAY
I 1/1.
$ 84, 247.26
20, 000. 00
: $104, 247.26
12/31.
$5, 054.84
: $5, 054.84
n 1/1.
$ 20, 000.00
: $20, 000.00
12/31.
$4, 158.13
: $4, 158.13
m 1/1.
$20, 000.00
: $ 20, 000.00
12/31.

$3, 207.

62
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I\

12/31:

12/31:

YL

12/31

12/31:

12/31.

1/1:

1/1:

1/1:

1/1.

1/1.

1/1:

1/1.

$3, 207.62

$ 20,
$ 20,

$2,
$2,

$ 20,
$ 20,

$1,
$1,

$ 20,

$ 20,

$ 104,
$ 20,
84,

$5,
$5,

$ 20,
$ 20,

$4,
$4,

$ 20,
$ 20,

$3,
$3,

$ 20,

000.
000.

200.
200.

000.
000.

132.
132.

000.

000.

247.
000.
247.

504.
504.

000.
000.

158.
158.

000.
000.

207.
207.

000.

00
00

07
07

00
00

08
08

00

00

26
00
26

84
84

00
00

13
13

00
00

62
62

00
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12/31:
Voo1/1:
12/31:

VIoo1/1.

N

(Deferred Assets)

C 9.2.34] NORWAY

$120.00.
(@D
1987  10/17
1988  12/31
1987  12/31

1987

12

1987

10

$ 30

17

10

$ 20,

$2,
$2,

$ 20,
$ 20,

$1,
$1,

$ 20,
$ 20,

000.

200.
200.

000.
000.

132.
132.

000.
000.

00

07
07

00
00

08
08

00
00

$ 120
$120

$90
$90

$ 30
$ 30
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1987/12/31 $ 30
1987/10/17 $120 | 1987/12/31 $ 30
$ 30 ,
$ 30
$ 30
$90, .
2) ,
1987  10/17
$120
: $120
1987 12/31 , $90.
$90
: $90
1988  12/31 .
$90
: $90
1987 12 .
1987/9/1 $120 | 1987/12/31 $ 90
1987/12/31 $ 90
2.

o

C 9.2.35] NORWAY 10 12 $ 100, 10
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, $75,
10 $ 25, 10 , 10 31 ,

10/31 : — $ 25
—10 $25

$75, , 10
$25’ $25; $259 )
$ 25,

C 9.2.36] NORWAY $1, 800, .

$7, 800.00
$7, 800.00
$1, 560
$1, 560
$1, 560

$1, 560
$1, 560
$6, 240, .

. (Wasting Assets)

C 9.2.37] $900, 000, 150 ,
$0.6, $ 150, 000 (=0.60X250, 000),



— 1033 —

150, 000
150, 000
; . $ 750,
000, . .
. (Long— Term Investment)
(G
1.
20%
C 9.2.381  NORWAY YL $20, 000,
20%, YL $30, 000, $5, 000, NORWAY
$1, 000,
(D
—YL $20, 000
$20, 000
YL
(2)
$1, 000
$1, 000
YL $1, 000
(3
$1. 000
$1, 000
2.

20% . 50% ,
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C 9.2.39) NORWAY $ 40, 000 YL 40%

YL $30, 000, NORWAY 40% $12, 000
, YL $10, 000, NORWAY
$4, 000,
(D
—YL $40, 000
$ 40, 000
YL 40%,
(2) YL :
—YL $12, 000
: $12, 000
YL $30, 000 40% .
3
$4, 000
—YL $4, 000
YL .
4)
$12, 000
$12, 000
, $48, 000,
$12, 000,
3. .
50% ,
( ). )
C 9.2.40) NORWAY YL 50% ,

b o
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NORWAY
1988 12 31
$ 100, 000 $50, 000
—YL 100, 000 500, 000
500, 000 $150, 000
$ 700, 000 700, 000
YL
1988 12 31
$40, 000 $20, 000
100, 000 100, 000
20, 000
$ 140, 000 $140, 000
NORWAY—YL
1988 12 31
$ 140, 000 $70, 000
600, 000 500, 000
170, 000
$ 740, 000 $ 740, 000




$105, 000

C 9.2.413  NORWAY 1987 1 1
6% $ 100, 000, $ 105, 000,
$5, 000,
0 . $ 500,
’ $2, 500 .

(1) 1987 1 1 .

105 100 YL 6%
1992 1 1 .
) 7 1 .

$3, 000 $5, 000 1/10.

5, 000 1/10,

(3) 12 31

$5, 000
(4 12 31

1/10,

12 31 $3, 000,
. $104, 000

$1, 000 .

$3, 000,

$ 500

$ 105, 000
$105, 000

$3, 000

$500
$500

$3, 000
$3, 000

$ 500
$ 500

$5, 000
$5, 000
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, $ 100, 000,
2.
C 9.2.42) NORWAY 1987 YL $100, 000,
$98, 000, $2, 000, , $200, NOR-
WAY 6% $3, 000
, , $ 200,
(1) 1987 1 1
$98, 000
$98, 000
98 100 YL 6% .
1992 1 1 .
27 1
$3, 000
$3, 000
$2, 000 1/10,
$ 200
$ 200
$2, 000 1/10,
(3) 12 31
$3, 000
$3, 000
$ 200
$ 200
$2, 000 1/10,
(4 12 31
$6, 400

$6, 400
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— + — — —
1.
C 9.3.13 NORWAY , NORWAY
$4,384,876. 10,
$4,397,559.35— $4,384,876. 10=$12.683. 25
$1, 000, 000
( ) 200, 000
400, 000
167, 683, 25
( ) 245, 000
$12, 683.25
270, 906.50
38, 142.50

550, 954.43
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43,
345,
296,
691,
243,
359,
324,
569,
663,

517.
863.
459.
554.
266.
569.
299.
189.
837.

00
42
00
55
25
50
00
70
50

$4, 397,

059.

35

@V

(2)
3

4

5

$4,

3,
1,
4,

397,
200,
400,
167,
245,
384,
000,
384,

559.
000.
000.
683.
000.
876.
000.
876.

35
00
00
25
00
10
00
00
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C

9.3.2) NORWAY

YL

YL

b b

9.3.3) NORWAY

NORWAY
( )
( )
. $1, 000
( )

$ 180,

$ 100

o

30 YL .

$3, 000
$3, 000

$3, 000

$3, 000

$3, 000
$3, 000

YL , $ 30, 000,

$30, 000
$30, 000

$30, 000
$30, 000

$ 30, 000.00
$ 30, 000.00

$1, 000
$1, 000

$ 180
$ 180
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$ 180
$ 180

C 9.3.4) NORWAY YL . $10. 000,
1, 000, $9, 000,
$9, 000.00
1, 000.00
$10, 000.00

$10, 000.00
$10, 000.00
$10, 000.00
$500 ( 5/30):
$9, 500.00
500. 00
$10, 000.00

QY : , (

C 9.3.53  NORWAY 1988 9 1
, $50, 000, . $8., 000,
, $1, 2000, $ 40, 000,
$48, 000,
, $50, 000, $40, 000, $10, 000,
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®
(2)
+
_|_
C 9.3.6] ., NORWAY
@) :
_ $50, 000—40, 000 0/ — om0
— T30 000 X100% =20%
@
$11. 600
$14, 400
$ 14, 400
$9, 600
®
A.
B.

$8, 000
42, 000
$50, 000

$57.50
$57.50

$40, 000
$40, 000

( 9.3. 1

$2, 320
$2, 880
$2, 880
$1, 920

$8, 000
42, 000
$50, 000

$50, 000
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3

>

10 12

9.3.7] C

o

_ $50, 000— $48, 000

9.3.5], NORWAY

$50, 000

X100%=4%

=$11, 600X4% =464
=$14, 400X4% =576
=$14, 400X4% =576

=%

9, 600X4% =384

$ 40, 000
$10, 000

$3, 600
$3, 600

$2, 320
$2, 320

( 9.3. 1)

$8, 000
42, 000
50, 000

$50, 000
$40, 000
$8, 000

2, 000

$3, 600
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o

C 9.3.8] NORWAY
$20, 000,

NORWAY
YL
8.
C 9.3.93 NORWAY
$ 20,
A. YL .
B. .
( )

O

$3, 600,

YL
$ 40, 000,

4, 000
2000
$10, 000,

YL

YL

$80, 000

15, 000,

$3, 600

$ 464
$ 464

$18, 000
2, 000
$ 20, 000

$ 20, 000
$18, 000
2, 000

4, 000 ,

$80, 000
$80, 000

$80, 000
10, 000
15, 000

$80. 000

$25, 000
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—_— 2000
D YL :
— 2000
E. $40, 000
9.
C 9.3.10) NORWAY YL
$5, 000, $3, 000,
$10, 000,
(@D
: ( )
(2)
3)
€Y
10.
C 9.3.113 NORWAY 1988
$12, 000,

$ 105, 000
$25, 000
$ 105, 000

$ 105, 000
$105, 000

$145, 000
$ 145, 000

$15, 00,
$2, 000,

$5, 000

$5, 000

$3, 000
$3, 000

$10, 000
$10, 000

$10, 000
$5, 000

3, 000
2, 000

$ 15, 000,

$15, 000
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$12, 000

b

C 9.3.123 NORWAY
X5, 000,
41,

000,

1, 000,

1989

C 9.3.13] NORWAY

b o

90 s

@V

(2)

1988 5+ 1
NORWAY
, $2, 000,
1:4,

¥4, 000

$15, 000

$12, 000
$12, 000

$
1989 ;

¥5,
¥57

000
000

¥5, 000

¥4, 000

1. 000

D/A s

¥10, 000
¥ 10, 000

1,

90
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¥ 10, 000
¥8, 000
2, 000
(3
¥ 10, 000
¥8, 000
2, 000

C 9.3.14) NORWAY D/A90 $1, 000
1:5 ,
¥5. 000
¥5, 000
90 . 1:4,
¥1, 000

¥4, 000
¥1, 000
¥5, 000

KX XX
XXX X

XXX X
( ) XXX
XXX X

@)
XXX
XXX

(2)
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XXX
: XXX
3
XXX
XXX

XXX
XXX

C 9.3.15] NORWAY 1987 5 1 $500, 000,
, 12%, NORWAY 1987 12 31 1987

b ’

= $500, 000X1% ( ) X8 ( ) =$40, 000

$40, 000
: $40, 000
NORWAY , $6, 000, .

$554, 000

6., 000

$500., 000

40, 000

20, 000

NORWAY 1988 $ 550, 000,
$ 544, 000,

$ 550, 000

$6., 000

544, 000



o o

C 9.3.16] NORWAY 1988 7 1 YL $100, 000,
1. 8% ., NORWAY 1987 12 31 .

$10. 800
: $10, 800
NORWAY 6 30
$ 108, 000

10, 800

10, 000

$119, 440

— 2, 160

— $2, 160
$2, 160

XXX
XXX

XXX
XXX

C 9.3.17) NORWAY 1989 10 ,
1. , $1, 000, 000, $520, 000,
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$ 400, 000, . $ 20,
000,
2. , , $10, 000,
$ 200, 000, :
(D : $20, 000
520, 000
400, 000
60, 000
: $1, 000, 000
(2 : $10, 000
190, 000
$200, 000
@) ( \ )
2) , s
(3) , o
= + = + + -
( 9.3.2)
= -+ — ( 9.3.3)
= + — ( 9.3.4)

o (Cost of Goods Sold) ,
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1.

2.

C 9.3.187 NORWAY 1988 1 2
$ 20, 000,

” (Purchase Returns and Allowances) ,

o

YL

$ 20, 000
$20, 000

$ 20, 000
$20, 000
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C 9.3.197 NORWAY YL ,
, 500 YL , .
$ 500
$ 500
C 9.3.2017 NORWAY YL , $2, 020,
$20 YL , $2, 000 .
$2, 020
$ 20
2, 000
YL .
3. .
= + — ( 9.3.5)
= +
- +
= X ( - )
= X ( — ) (o 9.3.6)
= + C  9.3.D)
= — (  9.3.8
X ( 9.3.9)
— ( 9.3.10)
C 9.3.21) NORWAY 19%X1 11 30
, 1l9x1 11 1 $9, 000
61, 000

$1, 400
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, 19X1 11 30
11
, 19X1 11 1

, 19X1 11 30

b

NORWAY 11 30
@V
19X1 11 1

(2 : , 19X1 11 30

1,
2,
10,

$9,

$61,

2,

63,

1,

1, 340 2, 740 60,
69,

10,

58,

“ ”

$72,
$9,
61,
2,

$ 10,
1,
1,

$13,

340
180
600

000

000
180
180
400
440
440
600
840

180
000
000
180

600
400
340
340



(Direct Labor)

b

C 9.3.223 NORWAY

000,
2 15
2 28
2 28

(Indirect Labor),

b

(

9.3.1D

$1,

$1, 000

$1, 000

$1, 000
1, 000

$2, 000
$2, 000
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C 9.3.23) NORWAY 1988 6
A 120, 000 . B 50, 000 .
10, 000 5, 000 . 9, 000 5, 000
. 6 A, B 121, 000 50, 000 .
NORWAY
1988 6
1 2
AC 3 12 2) 363, 000 242, 000
B ( 9 2) 0 450, 000
363, 000 692, 000
$0.42 $0. 30
$152, 460 $207. 600
363, 000 692, 000
1988 6 30 20, 000 50, 000
383, 000 742, 000
. 1988 6 30 14, 000 65, 000
6 369, 000 677, 000
$0.42 $0. 30
$154, 980 $ 203, 100
NORWAY
1988 6
A 121, 000  1/5 24, 200 $6 $145, 200
50, 000 1/5 12, 500 $6 75, 000
36, 700 $220, 000
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NORWAY
1988

6

36, 700

$93, 700
4, 000
11, 000
300
1, 100

$110, 100
14, 000
20, 000
1, 000
400
800
500

36, 700

$ 146, 800

$3.00

1. 00

$ 4. 00
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NORWAY

1988

6

)

1 $152,460
2 207,600 $ 360,060
( ) 220,200
( ) 146,800
$ 727,060
1988 6 1 110,600
1988 6 $ 837,660
1988 6 30 165,900
$671,760
@) o s
(2) .
5 X X X
XX X
XX X

XXX
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(3

XXX

XXX
XXX

XXX

XXX

XXX
XXX
X XX

XXX
XXX
XXX

XXX
XXX
XXX
XXX

XXX
XXX

XXX
XXX
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XXX
XXX

XXX
XXX

XXX
XXX

XXX
XXX
X XX

XXX
XXX
XXX
XXX
XXX
XXX

XXX
XXX

XXX
XXX
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C 9. 3. 24JNORWAY 1988 1 1 YL

$ 50,000, $ 500,000, ,
1988 1 10
( )

(@Y
(2)

(€D) ,

(@Y

(2)

$50,000
500,000
$542,500
7,500

$7,500
$7.,500

XXX
X XX

XXX
XXX

XXX
XXX
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XXX
XXX
XXX

XXX
XXX
XXX

XXX

XXX
XXX

XXX
XXX

XXX
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(@Y

(2)

(3

XXX

XXX
XXX
XXX

XXX
XXX

X XX
XXX

XXX
XXX

XXX

XXX

XXX

XXX

XXX
XXX
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4

C
000,000,

9.3.25INORWAY
$8,000,000,

Ay N

10,000,000,

6%.2% 2%,

XXX
XXX

XXX
XXX

XXX
XXX

XXX
X XX

XXX
XXX

XXX
X XX

XXX
XXX

XXX

XXX

XXX
XXX

$5,
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C

12

:$10,000,000X6%=$ 60,000
: $8,000,000X2%=$16,000
. $5,000,000X2%=$100,000

. $176,000

9.3.26JNORWAY
$ 3,600,

31

6

$ 3,600
$ 3,600

$ 3,600
$ 3,600

$1,500
$1,500

$2,100
$2,100

XXX
XXX
XXX
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XXX
XXX

XXX
XXX

X XX
XXX

X XX
XXX

XXX
XXX

C 9.3.27JNORWAY , $50,000, $1,000,
R YL , $2,000, $ 500

(@Y
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(2)

3

C

C
$ 1,000,

(@Y

(2)

YL

9.3.28JNORWAY

$ 1,000,

9.3.29INORWAY
$60,

o

YL o

YL

$ 51,000
$51,000

$ 2,000
$ 2,000

$5,000
$ 500

$50,000,

$50,000
1,000
$51,000

$1,500,

$1,500
$1.,500

$1,000
$ 940
$ 60

$60
$ 60
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, “ ”(Loss
on Bad Debt)
1.
(D
C 9. 3.30) NORWAY 1988 12 31
$ 40,000
$630
430,000
3,000
, 0.5%,
$ 430,000
3,000
$ 427,000
= $427,000X0.5%=%$2,135
$2,135
2,135
7 ($630+ $2,135) $2,765.
(2)
, $ 40,000,

. $ 3,000 ,



3,000
630
“ 9 “ 2 $ 2’370
2.
C 9.3.31JNORWAY YL $1,550,YL 1988 ,
, NORWAY , , YL
@)
$1.550
: —YL 1,550
2
—YL $1,550
1,550
$1,550
1,550
, YL $1,000, , $ 500
, $1,000,
“ ” (Allowance Method) , «“
”(Direct—write— off —Method) , R
C 9.3.32) NORWAY YL $1.,200 ,
$1.200

—YL 1,200
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$1,200
1,200
$1,200
1,200
—YL $1,200
1,200
“ ”(Bad Debt Recovery) , “
, “ ”(Retirement) , .
)
@b) .
(2) ,
(3) , .
€] ) .
(G

@) o ’



= X ( 9.3.12)
= X ( 9.3.13)
= — ( 9.3.14)
(2 o o , s
= — ( 9.3.15
= X
( 9.3.16)
— _ ( 9.3.17)
3 . .
A.
= X ( 9.3.18)
= X ( 9.3.19)
= — ( 9.3.20)
B.
— — ( 9.3.2D)
= X ( 9.3.22)

4 o ,
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— ( 9.3.23)
«
«
(D!
D . . .
2) . . . .
3) . . .
«
_ — ( 10%6)
1,
_ 0

= 1—10% ¢ 9.3.20)
(D . 20 ,
1—10% _90% -,

20 20 =4.5%
(2) . . 10 \

1—10% _90% _ .,
10 10 =9%



12

”»

(

9.3.25)



(@Y

(2)

30%, 10%,

o b

C 9.3.33JNORWAY

(D 1—4

$ 3,000,

XXX
XXX

XXX
XXX

XXX
XXX
X XX
XXX

XXX
X XX

XXX
XXX

30% +30% X

’
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(2)

3

(@Y

(2)

$ 4,000,

”

$ 370,

$3.630,

$ 3,000
$ 3,000

$ 3,000
$ 3,000

$630
$ 630

$ 4,000
$ 4,000

$ 4,000
$ 4,000

$ 370
$ 370

$ 370
$ 370
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(@Y
(2)
3

4
5
(6)
7

C

b

9.4. 1JNORWAY

b

b

1,000,000

$200,000(10% +
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10%),

$ 300,000,

18

(12
(18
(24

200,000
300,000
200,000
300,000
1,000,000

10%
10

30

20

30
100%

C 9.4. 2JNORWAY

7%, 10%.,
550 50

1,000

1,500

7%

40%, 30%.,

$1,000

$1,000

(B)
()
(&)

$ 300
400

300
$1,000
$1.000

(&

$ 400

()

$ 400

(&

$ 300

(HD

$ 300
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(A) $ 155
(B) $ 150
(1,000X20% — 50 )
(® $ 400
(H) $ 300
— ©
(A) $155
(B) 5 5
(B $ 150
$ 300
. $ 305
$ 305
C )
. , 10
10
C 9. 4. 3INORWAY 5000 10 , 10
D) 50,000
(1D 50,000

|ip) $50,000 (D $ 50,000




o (I CI
C )
. , 12
10 .

C 9.4. INORWAY 5,000 12

$5,000

$ 60,000
$ 10,000
(D $50,000
I $50,000 $ 60,000

|ip) $10,000
$ 60,000 $ 60,000
QP $10,000

’

10,000



. o b 8
10 .
C 9.4. 5JNORWAY 5,000 10 , 8
$50,000 $ 40,000
$10,000
$ 50,000 $50,000
$10,000
$10,000
$ 40,000
$50,000
$50,000
C 9.4.6JLS GS 1984 1 1 , 5,
000 10 ( ),
LS 1984. 1.1
$ 50000 $ 50000
GS 1984. 1.1
$ 50000 $ 50000




1080

11

, 1988 12 31 . A
50,000 , 10 5,000 .
, (a) , (b) o
LS (1) 1988.12. 31.
(a) (b) (a) (b)
$50,000 | $100,000 $55,000 $55,000
10,000 10,000 5,000 55,000
60,000 110,000 60,000 110,000
. . 5,000 60,000
( 10,000 ), ,
12 . . 10,000 , 110,000 ( 50,000
Do 11 o ,
1 (=12—11) . 10 , 1 ,
, 12 \ 12 ,
LS (1) 1988.12. 31
(a) (b (a) (b)
( y 50,000 100,00 55,000 55,000
10,000 5,000 65,000
10,000 10,000
60,000 120,000 60,000 120,000
. (a) 60,000 , 12 (
5,000 ), (b) 120,000 ¢ 10,000 ), 12
GS , , ,

Do

40,000
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b

5,000
10

’

GS

5,000

’

1988. 12. 31.

50,000

50,000

100,000

100,000

30,000

10,000

10,000

50,000

30,000
50,000

10,000

10,000

100,000

b

$1.000,
., $950

b

) :

(@Y
(2) A

(A

4 A

(5

$ 800

$ 40,

1000

$1,

$ 1,000
$1,000

$ 800
$ 800

$ 1,000
$ 200
$ 800

$ 950
$50
$ 1,000

$ 40
$ 40
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2. ’
(D
— $1.000
: $1,000
(2 A
$ 800
: — $ 800
(3
$1.000
$ 200
$ 800
4 B
$950
$ 50
: $1.000
(5
$ 40
: $ 40
(6) S
$710
: $710
3. , s 1.2 (3)4) ) (6)
$1,000
— $ 200
$ 800
1. . .
C 9.4.7) $ 100 200 $50 20 ,

$22,200,
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$ 105, $ 54, :
(200X $105) $ 21,000
(20X $54) 1,080
$22,080
$22,200
21,000 B
22,080>< $22,200=$21,114
1,080 _ o e
22,080>< $22,200=$1,086
$22,200
$ 20,000
1,000
1,114
86
b ’ $1057
$ 22,200
(200X $105) 21,000
$1,200
$ 22,200
20,000
1,000
1,000
1,000
20,000
21,ooo>< $22,200 $21,143
1,000 . !
21,ooo>< $ 22,200 $1,057

$ 22,200
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$ 22,200
$ 20,000

1,0
1,1

00
43
57

)
@b)
(D (2) ' )
(2) '
(G (Preemptive Rights)
, )
) (Subscription Warrants)
@y ) )
(2) ) )
3 ,
C 9.4.8INORWAY $ 100 $105 1,000 .
1,000 $25,
(D $ 25, $24 .
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$ 105,000
$ 100,000
5,000
(2 $25, $27 ,
1,000  (1,000X $2=$2,000) . )
$ 105,000
$ 100,000
3,000
2,000
(3 $25 1,000 $27 , “
$25,000
2,000
: $ 27,000
4) , )
$ 2,000
: — $2.000
(G
C 9.4. 9INORW AY $100,000(100 ).10 6% ,
$1,000, $1,020, 100 100
$32¢( $25), $ 37,
$1,015, $5,
(100X $1,015) $101.500
(100X $5) 500
$102,000(=100% $1,020)
(D . . .
$102,000
$ 100,000
1,500
500
2 . .

$3,200(=100X $32)
2,500
$ 500



1086

80

b

$1,000

80,

1,200

$12.50(=$1,000+



) “ ”» s
C 9.4. 10JNORWAY 100 ,
40 . ,
50,000 ),
NORWAY ,

( $50, 1,000 )

( $10, 10,000 )

s NORWAY $51.50/
5 ., 2% )

($50,000X25%)
($1,500X25%)
($250X5X10)

($50,000X25%)
($1.500%X25%)
($250X4X10)

45,

1000
000 (

50,000
5,000
40,000
5,000

$ 50,000
1,500
100,000
20,000
180,000

$12,500
375
$12,500
375

”»

4

$12,500
375
$10,000



— 1088 —

2,875
6 . :
($50,000X25%) $12,500
($1.500X25%) 375
2,125
($250X6X10) $ 15,000
C 9.4.11) . ;
; . $ 150,000, 1500
, $ 100, , 480
: $ 300, $ 1,200, $1,500, .
300 $110,
1988.12. 31
$ 600
6,300
600
17,700
6,000
22,500
— 4,500
3,000
1,800
— 25,200
— 18,000

$53,100 $53,100
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(=(480X $110)—(18,0004+25,200+2,400)]

(480X $100)

(300X $100)

’

1.2

b

3.4

$1,200
$1.500

$ 300
$2,400

7,200
$ 3,600
3,600

$ 30,000
22,800
$ 48,000
4,800

$ 33,000
$ 30,000
3,000

$ 900
$4.500
3,000
1,800
52,800
$ 600
$6,300
$17,700
7,200
24,000
7,200
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9.4.12)
$ 90,000
(

150,000

b

$52,800
52,800

$ 30,000
22,800
$52,800

$ 600
6,300
17,700
7,200
24,000
7,200
$ 900
4,500
3,000
1,800
2,800
52,800

$ 52,800
$ 48,000
4,800

$ 33,000
$ 30,000
3,000
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10,000
14,000
29,000
50,000
103,000

13,000

90,000

103,000

(@Y
(2)
(3

(@Y

(2

3

4

$ 60,000

$ 103,000
$10,000
14,000
29,000
50,000
$13,000
$ 13,000
$ 90,000
$ 90,000

$ 150,000
$ 150,000

$10,000
14,000
29,000
50,000
$13,000
90,000

$ 60,000
$ 60,000

$ 150,000
$ 150,000
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, R
“ (Present Value)”
C 9.5.13  $1,000
$1,060, $1,060
= X (1+ X )

$1060=$1000X (14+6% X 1)

T+ X )
~ $1.,060
$ B 1,000= 3005
. (
;(3) ( )
= X (14 )
C 9.5.2] $ 1000,

$1,000X(140.08)=%$1,259.7

(
6%
$1.,000
),
(D)
( )
8%,

$1,000

~

3(2)

9.5.1)

9.5.2)

9.5.3)

$1,
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259.7 . $1.240,
, C 5 ) ( )
( ).
@)
2) 5
€)) .
< ( )<< ( — )
> ( ) > ( + )
. $100,000,
6% .4 , . . (
9.5. 1)
( Do
9.5.2,
9.5.1
6% = 6% 6 %< 7% 6% > 5%

$ 100,000 X (140.03) 8
= $78,940
$3,000X7.018—>(140.03)8

$100,000X0. 7594—>(140. 035) 8
=$75,940
$3.000X6.8740—(140.035)8

$100,000%0. 82075—>(140. 025) 8
= $82.075
$3.,000X7.170—>(140.025)8

=$21,060 = $20.620 =21,510
$100,000 +
= $78.940+ $21. 060 $96. 563+3.473
$96.563+3,473 $103,585—3,585
( )
$ 100,000 $100.000 $100.000
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9.5.2
( ) $ 100,000 ( ) $ 100,000
3,437 3,585
( ) $ 96,563 ( ) $ 103,585
( )
“ ”» “ - +
” ( )
““ ”» ( )
(D) 2) o )



— 1096 —

— _0_7 — [
$3,430:$3,ooo+3’§37 $2,552:$3,000—#
= ( ) X
( 9.5.4)
C 9.5.3INORWAY 1977 1 1 $15,000,
$16,500, 1977 12 31 ,
( )
®:$100,000><3% ®:$3,437X% R@=0+® ®—® ©:$100,000—@
1/1 $ 3,437 $ 96,563
1989
1 3,000 430 3,430 3,007 96,993
2 3,000 430 3,430 2,557 97,423
3 3,000 430 3,430 2,147 97,853
4 3,000 430 3,430 1.717 98,283
5 3,000 430 3,430 1,287 98,713
6 3,000 430 3,430 857 99,143
7 3,000 430 3,430 427 99,573
8 3,000 427 3427 0 100,000
$ 24,000 $ 3,437 $27,437
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o

’

1977 $ 5,000 5/15($ 5,000/ % 15,000) $ 500
1978 4,000 4/15 400
1979 3,000 3/15 300
1980 2,000 2/15 200
1981 1,000 1/15 100
$ 15,000 $1,500
N (2):
C 9.5.4INORWAY 1981 1 1 , 8%
$ 200,000, $100,000, .
1984 12 31 7 1 1
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$100,000, 6%, 7%
( )
= ®X3.5%| @=$100,000X3% @=0—-0 ®= ®-0 ®= $100,000—@
1/1 $3.437 $96.563
1989
1 $3,380 $ 3,000 $ 380 3,057 96,943
2 3,393 3,000 393 2,664 97,336
3 3,407 3,000 407 2,257 97,743
4 3,421 3,000 421 1,836 98,164
5 3,436 3,000 436 1,400 98,600
6 3,451 3,000 451 949 99,051
7 3,467 3,000 467 482 99,518
8 3,482 3,000 482 —0— 100,000
$ 27,437 $24,000 $3,437
$100,000., 6%, 5%
(D= $100.000X3%| @= OX2.5% @=0—-0 ®= ®—-0 ®=$100,000+@
1/1 $3.585 $103.,585
1989
1 $3.000 $2.590 $410 3,175 103,175
2 3,000 2,579 421 2,754 102,754
3 3,000 2.569 431 2,323 102,323
4 3,000 2,558 442 1,881 101.881
5 3,000 2,547 453 1,428 101,428
6 3,000 2.536 464 964 100,964
7 3,000 2,542 476 488 100,488
8 3,000 2,512 488 —0— 100,000
$ 24,000 $20.154 $3,585
1.
$ 100,000 :
$ 100,000
: 1981 $ 100,000
: $ 4,000
: $4,000
2.

1981. 1. 1. NORWAY

10%,
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, $93,537C 5%, g8 %1
0.67684  6.46321, , (=$100,000X0.67684+ $4,000X6.46321=)
$ 93,537
$93,537
6,463
1981 8% $ 100000
( ’ ’
, $6,463=8=$808)
$ 4,000
$ 4,000
$ 808
$ 808
3.
6%’ ’
$107,020¢( %%, 8§ ,%1 0.78641  7.01969,
$100,000X0. 789414+ $ 4,000X 7. 01969=$107,020)
$ 107,020
1981 8% $ 100,000
$7,020
$ 4,000
$ 4,000
$ 789
$ 789
C 9.5. 5JNORWAY 1980 7 1 1980. 4. 1
10% , $ 60,000, $62.622,
$1.500,
$64,122

$1,500
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1980  10% 60,000
2,622

$1,500
1,500
$ 3,000
$138
$138

b o b °

. 1980.12. 31.
$1.362
138
$1,500

, . , “X X
”» i s “ 7 “X X
C 9.5. 6JNORWAY 1989.1.1.  $50,000 LRR .
.LRR — $ 50,000

$ 50,000

$ 50,000
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”

C

“

:LRR —

, “NOX

”

:LRR —

:LRR —

o

19X X X X %/(

b

9.5. 7JNORWAY

7 $ 25,000

b

”

G

1984

$ X X X X X(

$ 100,000

$ 50,000

$ 50,000
$50,000
$ 50,000
$50,000

$50,000
$50,000

)

$ X X X X X

),
Do



C 9.5. 8JNORWAY

102%) $10,000 ,
(1984 3 1
$7,
$10,000 \
(102%)
($7X34)
(D
(2)

o

, 1984 3 1
(1984

$83(= $10,000X0.05X%

$14,

1

102 (
1

2

IE)’

b

$10,200
83
$10,117
$10,000
238
9,762

$ 355

$14
$14
$10,000
83

355
$238
10,200
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C

9.5. 9IJNORWAY

$50,000, NORWAY

b

@V

(2)

3

4

5

(6)

o

$ 50,000

, 1988 12

$5,500,

”»

31

$ 300,

$ 8,000

$ 8,000
$ 8,000

$ 32,000
$32,000

$ 37,500
$ 32,000
5,500

$ 300
$ 300

$ 100
$ 100
$50,700,

$50,000
$ 50,000
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a . $700
$ 700

“ ” “ RIS ”»
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’ ’
’ ’ ~
«
’ ’
P
’ ’
~
’ ’
’
’ ;(3)
b o
(
°
’
’ ’
°
(@Y o
’ ’
’
’ o

(2 o :D

: (D
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N ;@ o .
HE) .
)
, ), ( +
+ ) , , “ ” “ ”
( ) , ,
$100 , $1,000, 106,
$1.060, , 1/8 , NOR-
WAY
NORWAYR 8 % 95 45 103 102 102 % —1
45  NORWAY 8 % $1,000
1995 , $103, $102, $1,000 ,
$1,030 $1,020, ( ) $102 = $1,025,
$1, $ 10,
C )
C 9.6. 1INORWAY YL 5% 500 $ 100,
$50,000, 101 $50,000( ), ,
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. $100.875,

C 9.6. 2JNORWAY

$50,437. 50,

1988 12 31

— ( $50,437.50) $50,500,

$ 43,100

$ 36,750

@)
s NORWAY
(A
(B
1989
(2)

( $43,100)

. $ 38,000,

$6,350
$6,350

$ 36,750

$43,100
6,350
$36,750

$ 38,000
6,350
$43,100
1,250

o



C 9. 6. 3INORWAY
1986 7.5%.
1 1 7 1

$1,000

1988

° ’

$ 250( = $1o,ooo><7,5%><%>,

—YL

o

C 9. 6. 4INORWAY
$5,892($982X6),

9 1

$ 20,

$75(= $6,000><7.5%><%),

$ 88,
—YL
[
NORWAY
$125, $250¢(
WAY

$ 375

$250),

10

1

1988

7

1

$ 20,

$9,820X10+ $20),

1

$9,820
250

$10,070

6 .
)

($6,000— $20)— $5,892=

$6,055
$5,892
88
75

$ 375
$125
250

, NOR-
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¢ )
C 9. 6. 5JNORWAY 1982 6 24 $4,620(
) YL 100
—YL $4,620
$4,620
¢ )
C 9.6.6JNORWAY 1983 1 28 $ 40 YL 80
, $15, $3,185, 80 80X $42=
$ 3,360, $ 175,
$3,185
175
—YL $3,360
¢ )
. YL 12 28 $1.50, . NORWAY
$ 150
$ 150
. YL 10% , .NORWAY
( ) YL 10 110

$42(=$4,620/110 )



o , ( ),
S (Open Market) s “
C )
( b )’ o ’
C )
( Do
C 9.6. 7JINORWAY 1982 1 1 $103,585 YL
4 6% , $100,000 ( , ,
$3,585 ). YL 1 1 7 1 .
O - $ 103,585
$ 103,585
$3,000(=$100,000X0.06X1/2), ,
. YL 4, 8 NORWAY
$3,585 8 , $448(=3,558+8),
@ $ 3,000
$ 448
2,552

, ( ) $ 448¢( $ 449
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) , $ 100,000 ;
( )
¢ )
1.
(
1982.2.1.1 103,585
1 3,000 2,552 448 103,137
2 3,000 2,552 448 102,689
3 3,000 2,552 448 102,241
4 3,000 2,552 448 101,793
5 3,000 2,552 448 101,345
6 3,000 2,552 448 100,897
7 3,000 2,552 448 100,449
8 3,000 2,551 449 100,000
24,000 20,415 3,585
ONORWAY $ 50,000 YL , .
;YL $50,000
: $50,000
@YL $ 15,000, $ 2,500, ,
$2,500
: $ 2,500
®YL $7.500, $2,
500, . . .
$2,500
: $2.500
@YL , $6,000, , .



YL YL
50,000 50,000
YL 15,000 15,000"
YL 2,500" 2,500
15,000 15,000"
62,500
;YL 7,500" 7,500
YL 2,500" 2,500
7,500" 7,500
52,500
;YL 6,000" 6,000
6,000" 6,000
46,500 .
3
:D ;@
C 9.6. 8INORWAY 1982 4 1 $ 106 YL 1980
8% 10 $ 100 50, $ 10,
1 1 7 1 , $100(= $5,000 X
8% X3/12), 5,310(= $106X50+ $10),
—YL $5.310
100
$5.410
, $310, 93 ,

$3.33, 7 1 $200(=%$5,000X8% X1/2)

1)
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) o , $ 10,
, $5,300(=$5,310— $10),
1 . $ 200
$ 100
100
2 : $10
—YL $10
, $ 200 .
$ 20 . .

. ( ) . .
. NORWAY .
NORWAY 1986 10 1 $110 .

$ 18, 1986 7 1 $5,
140, 1986 7 1 9 30 $ 100
$ 10, . : $5,482(= $110X5
—$18) $5,130(=$5,140— $10), $ 352,

@

$ 100
$ 100

$10
—YL $10

$5,582

—YL $5.,130
100

352

) 20%.,



C 9.6. 9INORWAY

$ 3,000,
D YL

20%—50%,
1984 YL
$16.000, $12,000,NORWAY
.NORWAY
$16,000 25%
—YL
—YL
50% .
1974
, 20%  50% ,
(1973 )
—YL 1885 6%
$ 100,000
—YL 1988
$ 45,000

25% , YL

$ 4,000
$4,000

$ 3,000
$ 3,000

$ XX X XX X

$89,810
$103.585
3,585

$ 50,000
$ 5,000

$ 238,395

$ XXX XXX
$ X XX XXX
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36)

N (Net Income)

”»

@V

(2)

3

)@

)3 (2)



(= — )3 (3) (= — ) (4)
3 (5) o
$ 840,000
— —520,000
D $ 320,000
_ —165,100
(2) 154,900
— 40%) 61,960
(3) $92,940
_|_
4 —540
(5) $92,400
“ ”» )
X ? ~
50% , °
(
, 10%, 5%
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( “ ”’ )
( ) o“
, . (D .
N N N R 5(2) 3 (3) s (4)
(D . 5 (2) ;(3)
( ) .
( ’ ’ b
)
\ s 10 1 o s
/
C 9.7. 1INORWAY 5,000 .4 1 15,000 , 7
1 5,000 (25%)
=5,000X12/12+15,000X9/124+5,000X12/12=21,250
NORWAY ., NORWAY $92,
940, $ 540, 92,400(= $92,940—540) 4. 35
(=%$92,400/21,250), $4.37(=92,940/21,250), $0.02

(=$540/21,250),
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) s ( “
7). (D)
;(2)
C 9.7. 2INORWAY $100,000, 40,000
( ) 5,000 $2,
$6, ( )
$ 100,000 $ 100,000 $ 100,000 $ 100,000
10,000 0 30,000 0
$ 90,000 $ 100,000 $ 70,000 $ 100,000
40,000 40,000
50,000 50,000
$2.25 $2.00 $1.75 $2.00
$0.25,
, $0.25,
( )
(D ( ) ) ;
(2) ;
(3
. ( “ 7, “
4 @ ;@ ;©® .
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(6)

1.

(D (Date of Declaration) ,
(2) (Date of Record),

(3) (Ex—dividend Date) ,
4 (Date of Payment),
2.



— 1120 —

. 40% .
(D
2) ;
(3) o
C 9.7.3INORWAY 1982.2.1. 15 $50 1,000
. 1982.2.2.29 ,1982. 2. 3. 15 .
@) , . :
$50,000(=1,000X $50)
: $50,000
(2) “ ” , s
$50,000
: $50,000
(3) , s o
$50,000
$ 50,000
o (D)
;(2) , “ 2
C 9. 7. 4 INORWAY $ 50,000, YL ,

$ 40,000, $50,000,
(@)
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$10,000
: $10,000
(2)
$50,000(= $40,000+ $10,000)
. $50,000
(3
$ 50,000
: $50,000
(4)
$ 50,000
$ 50,000

$ 50,000
$50,000
» $ 10,000

o

C 9.7. 5JNORWAY $16,000.,60 B % ,
( $6,000 $10,000)
(D
$6,000
10,000
. $16,000
(2)60
$16,000
($16,OOO><5><6—O) 133
360

$16,133

, ( 10%)
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’

$ 8,000

800 )

(7

b

(@Y
(2)

(3

(@Y
(2)

(3

__$8,000
(800+200)

800

25%

)

o

9.7.6JNORWAY

”»

(

’

, 200

100 %

b

8,000,

(=800X25%),

$2(=%$10—$%$8).

Do

b

$6,000,

$10(=
$8

$7,200,

$ 7,200
$7,200

$7.200
$7,200

$7,200
$ 6,000
1,200
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(500 $100) (10,000 $5)

$50,000 $50,000

2,000 2,000

8,000 8,000

$ 60,000 $ 60,000

( ) o
( ),
_ ( 9.7.1)
C 9.7. 7JNORWAY : 1,000
$ 100, $100,000, $3,000; 1,000
$100; “ ” $ 50,000,

~ $100,000+ $ 3,000
- 1,000 = $103
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_ $250,000— $103,000__

1.000 = 3147
( ) , s
o A B C
. .B C , A
b A b b
15% . s . ( )
( , Taxable Income) ,
| - < (. 9.7.2)
= — — — X (1—
15%), s , .
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( ) ( )
0 $ 25,000 0 15% $25,000X15%
$ 25,000 50,000 $3,750 18% 3750+ (50,000—25,000) X 8 %
50,000 75,000 8,250 30% 8250+30% X (75,000—50,000)
75,000 100,000 15,750 40% 15,750+40% X (100,000—75,000)
100,000 — 25,750 46 %
C 9.7. 8INORWAY $ 90,000,
$ 15,750+ $90,000— $75,000) X40% = $ 21,750
s (Effective Rate) . ,NORWAY
$21,750 o
; $9o,ooo'_24'2//° ’
s (Margminal Rate), $ 100,000

X46%— $ 20,250

, (Capital Gain) .
s (Capital Assets) (
) . .
, (Capital Loss), ,
( ) ( ) ,
) 28%.,
; 5%

C 9.7.917 NORWAY 1988
$ 500,000
20,000
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20,000
$ 540,000
$10,000 180,000
$ 360,000
, $5,000,
NORWAY
1988  ( 1988.12.3D)
$ 500, 000
20, 000
$ 20, 000
5, 000 15, 000
$10. 000 17, 000
$535, 000
$363, 000 5% 18, 250
$ 346, 750
$20, 000X85% 17, 000
$329, 750
28% 15, 000
$314, 750
$15, 000 28% 4, 200
( X46% — $20, 250) $124, 535
$ 128, 735
o s (Pretax
Accounting Income) ) ,
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(
) ( Do

QD) (3

(2) 4
@) )
(2) ,
3 )
4

) (
Do NORWAY

C 9.7.10] NORWAY 1985. 1.1 $50, 000

4

. NORWAY
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o

. 1985 1988 ,
$50, 000, 40% NORWAY
1985 1988 ,
1980 1981 1982 1983
$50, 000 | $50, 000| $50, 000| $50, 000
(
) 11, 000 12, 000 13, 000 14, 000
39, 000 38, 000 37, 000 36, 000
15, 600 15, 200 14, 800 14, 400
( 4099
1980 1981 1982 1983
$50, 000 | $50, 000| $50, 000| $50, 000
( 12, 500 12, 500 12, 500 12, 500
$37, 500 | $37, 500 | $37, 500| $37, 500
$37, 500 | $37, 500 | $37, 500| $37, 500
15, 600 15, 200 14, 800 14, 400
$21, 900 | $22, 300 $22, 700 | $23, 100
($37, 500
X40%)
$37, 500 | $37, 500| $37, 500| $37, 500
15, 000 15, 000 15, 000 15, 000
$22, 500 | $22, 500| $22, 500| $22, 500
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, . NORWAY
) (
C 9.7.113 NORWAY 1985 1988
1985 $15, 000
600
$15, 600
1986 $15, 000 $15, 600
200 $15, 600
$15, 200
1987 $15, 000 $15, 200
$14, 800 $15, 200
200
1988 $15, 000 $14, 800
$ 14, 4000 $ 14, 800
600
1989 $14, 400
$ 14, 400

(Deferred Income Tax Debits)

’
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(Deferred Income Tax Credits) .

b o

1985 $ 600
1986 200
1987 $ 200
1988 —600
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b

(O ,
(2)
$1 $5,
3
10, 000
4

000, s

$5, 000 $ 15, 000;
5, 000 $1 , 1, 000
. 10, 000
$10, 000,
$8, 000,

, , (2) (3

$1

$5

$ 8.
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1.

C 9.8.1) $100, 000 .

(D
$ 100, 000
$100, 000

(2)
$100, 000
$ 100, 000

( ,

. )

2.

C 9.8.2] 1000 $ 100, ,
$100, 000
$ 100, 000

NORWAY .
C 9.8.3) NORWAY 10 $1 1, 000 $1, 000
1, 500, 15%, $1. 000 ,
100% . , $1, 000 $1, 000 ( , ,
, , ) $7, 000
, $8, 000, $3, 000, ,

$1, 000 , $7, 000 , $7, 000



$7, 000 , .
$1 b 7 b $1o b
NORWAY
( ) 1988.12.31
$1, 000 $5, 000
( ) $9, 000 5, 000
$10, 000 $10, 000
NORWAY
( ) 1980.1.1
$5, 000
($1, 0004+ %7, 000) $8, 000
($9, 000—%$7, 000) $2, 000 $5, 000
$10, 000 $ 10, 000
1, 000,100 .
$1, 000 , t g OOO>< ] 12.5%
y 1, 000 $10, 000 ,
b $1O’ b
$10 $8, , 8 )
8
8, 000° ’ ° 10
$1 . , 8 , $8,
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NORWAY
$7, 000
$7, 000
$7, 000
$7, 000

(@Y
(2)
(3

4

(@Y

(2)
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1.
C 9.8.4) NORWAY
$ 105,
2.
C 9.8.5)
$98,
@)
(2)
3.
@) ,
C 9.8.6] NORWAY
$50, 000,
2) ,
C 9.8.7)
$100, 000,

1, 000 $ 100,

1, 000

$100, 000,

$ 200, 000,
$50,

$100, 000
5, 000
$105, 000

o

, $ 100,

$ 100, 000
$98, 000
2, 000

$ 100, 000
$100, 000

1, 000 ,

$50, 000

$50, 000

2, 000 , $ 100,

$ 100, 000
$100, 000
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o)
) ,
)
9.8.8) NORWAY
$110 100
($100X100)
($5%x100)
($110X110)

$ 100, $ 105

$ 100, 000
500

500

$11, 000

”»

b
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» NORWAY $110 100

($100X100) $10, 000
($100X100) $10, 000

b o

C 9.8.91 NORWAY 20, 000 $ 10,
$ 10. 5 3 “ ” $ 9’ 600’ “ ”
$13, 000, $12 200

$10, 20, 000 $ 200, 000
200 2, 000 $198, 000
( )

13, 000

9, 600
$220, 600

) o NORWAY

$11, 000
$11, 000

$11, 000
11, 000

$12, 000
$11, 000
( ) 1, 000
4. , ( $5/ )
$10. 500



(

($5%x100)

. (

$ 10,

NORWAY
20, 000

)

500
$11, 000

NORWAY

$10, 000
500
$11, 000

$ 200, 000

10, 000

$2, 400

10, 600 13, 000
$ 223, 000

2, 400

$ 220, 600
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50% ,
. ( N
C 9.9.1JP 1988 10
P 1988.9. 31
$ 18,000
$ 402000 20,000
25,000 $ 38,000
20,000 $ 100,000
$ 85,000 37,000
90,000 137,000
$175,000 $175,000
S 1988. 9. 31
$ 7,000
$5,000
3,000 $ 15,000
6,000 2,000
$ 14,000 17,000
10,000 $ 24,000

$ 24,000




P S 100 %
P $ 13,000 $10,000, S .
(1988.9.31) S $23,000
$ 13,000
10,000
P S ,
P 1988.10. 1
$ 18,000
$ 27,000 30,000
25,000 $ 48,000
20,000
$ 72,000 $ 100,000
S 23,000 37,000
90,000 137,000
$ 185,000 X $ 185,000
. S s o
9P “ S 2 S
. , , $23.,000 $17,000),
. .S
, ., P S
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$ 23,000
$5,000 $5,000
3.000 3,000
7,800 7,800
$1,800
12,000 12,000
2,000
(7,000) (7,000)
$17.,000 20,800 )
i $ 3,800
$2,200
S
(Consolidated Balance Sheet) .
P S 1988.10. 1
P S
27,000 5,000 32,000
25,000 3,000 28,000
(3.) 6 9000 o
23,000 (b) 17,000
90,000 10,000 (a)2,000 102,000
— — (2)2,200 2,200
185,000 24,000 192,000
18,000 7,000 25,000
30,000 — 30,000
100,000, 15,000| (b)15,000 10,000
37,000 2,000] (b) 2,000 37,000
185,000 24,000 23,000/ 23,000 192,000
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P S 1988.10. 1
$ 25,000
$ 32,000 30,000
28,000 $ 55,000
27,000
$87.,000 $ 100,000
102,000 37,000
137,000
2,200
$ 192,000 $192.000
, . P
S .
( ) ,
( ) ,
) , (
40 ), (Badwill) ,
. ., P $ 20
500 S $ 100 150 . P
(1988.10. 1) ;S $17.000
$10,000
$5,000
( ) 2,000
08 ” S $17,000
. S $ 15,000, P $ 10,000
(500 X $20), $5000, “ ”
. S P .

) , P
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P 1988.10. 1
$ 18,000
$ 40,000 20,000
25,000 $ 38,000
20,000
$ 85,000 $110,000
5,000
17,000 39,000
90,000 154,000
$192.,000 $ 192,000
“ ”» S )
( )6
S 1988. 10. 1
P S
40,000 5,000 45,000
25,000 3,000 28,000
20,000 6,000 26,000
90,000| 10,000 17,000 100,000
192,000 | 24,000 199,000
18,000 7,000 25,000
20,000 — 20,000
110,000 | 15,000| 15,000 110,000
5,000 — 5,000
39,000 2,000| 2,000 39,000
192,000 | 24,000| 17,000| 17,000 199,000




P S 1988.10.1

$ 25,000

$ 45,000 20,000

28,000 $ 45,000
26,000

$99,000 $110,009

5,000

100,000 39,000

154,000

$199,000 $ 199,000

)
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1 S 1989 12
, 1988  ( )
2.
( )
3. .
$700, 10 ,
4. .
P .
1.
X 80%) :
S
S
2.
($ 11204 $ 70+ $70).
S
S
3.
S
4,
( )
( )
S

25 $1,500,

1988 10 1 1989
, $480¢(
$ 70, $ 30
$420, 6 ,
$176,
$ 7,000,

1989 8 1
9 31 ;
$ 1,440, ,
. ) s
. $40
$ 70,

$5,600(% 7,000

$5,600
$5,600

$1,580
$1.,580

$176
$176

$ 524,700
$ 36,400
4,020
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$ 386,000
36,400
55,723
26,897
17,900
42,100

$42,100
$ 42,100

(a)
( ) $1,540
( ) 40
( ) ( ) 1,460
1,584
S ( ) $4,624

(b)
( ) $ 15,000
( ) ( ) 2,000
( ) ( ) 4,020
( ) ( ) $16,420
( ) ( ) 1,500
3,100
(o) $1.400
$ 1,400
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( )
$1,440 | $1,400 —
100
1,600 40 $1,460
1,760 176 * % 1,854
$4,800| $1,756 $3,044
* % .
(80%) (20%)
$ 15,000 $12,000 $ 3,000 $ 15,000
2,000 1,600 400 2,000
$17,000 $13.600 $ 3,400 $17,000
x 4020 — 4020
(1,200) (300) (1,500)
$16,420 $3,100 $19,520
— * % 1,400 1,400
$ 16,420 $4,500 |* * x  $26,920
* $5600($7,000X80%)— $1,580=
$4,020
% % $1,400= $7,000X20%
* % % . $20,920 $15,000= $5,920+
$1.580= $ 7,500
’ “ ” (d) <e) ° ’ (d)
(e) (a)(b) () o
(d) . ( ) $ 36,400
$ 36,400
(e) P ( ) $1,200
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S ( ) $1.200
P S
1988 (1988.10.1~1989.9.31)
P S
524,700 108,900 633,600
36,400 - (a)36,400 -
S 1,020 - (b) 4,020 -
565,120 108,900 10,420 633,600
386,100 79,000 ()1,540 466,640
36,400 - (2)36,400 -
55,723 12,900 () 40 68,663
26,897 7,000 33,897
17,900 3,000 20,900
- — (e)1,400 1,400
523,020 101,900 2,980 36,400 591,500
42,100 7,000 43,400 36,400 42,100
(1988.10. 1) 37,000 2,000 (b)2,000 37,000
79,100 9,000 45,400 36,400 79,100
9,500 1,500 9,500
(b)1,500
1989. 9. 31 69,600 7,500 45,400 69,000
37,900
11,756 7,400 19,156
«C 17,660 6,200 23,860
(e)1,200
1,200 - -
78,940 8,600 ()4.624 } 87,540
21.044 _ (b) 16,420 _
«C 84,600 8,800 (a)1,460 94,860
- — (a)1,584 1.584
215,200 31,000 3,044 227,000
22,244
«C 15,600 7,300 22,900
- 1,200 (e)1,200 -
30,000 - 30,000
(b)3,100} B
- - (0)1,400 4,500
100,000 15,000 (h)15,000 100,000
C 69,600 7,500 15,400 37.900 69,600
42,400
215,200 31,000 61,600 227,000
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P S 1989. 9. 31

$22,900

$19,156 30,000

23,860 $52,900

87,540 4,500
$130,556

94,860 $ 100,000

69,600

1,584 169,600

$ 227,000 $ 227,000

. . 6

( 12),

(Exchange Gain or Loss),

b b o
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C 9.9.2) p 1986 6 1
100% P .S
1.1986. 6. 1( ) $0.30;
2.1988.12. 31¢( ) $0.24;
3.1988 (1988.1.1 12 31 $0.25;
4. P 1988.12. 25 S 1988 ,
$o0.26, $10,400,
$8,920 ., P S
(a) ( ) ( )
( ) ( )
S ( ) ( )
S ( )
( ) ( )

(S

$300,000
42,200
63,600
$ 395,400
10,400
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P S
( )1988 (1988.1.1—1988. 12. 31)
P S
5,400,000 450,000 5,850,000
8,920 8,920
5,463,600 458,920 63,600 5,858,920
4,110,000 342,500 4,452,500
519,380 35,600 554,980
130,200 12,780 142,980
21,720 4,440 26,160
4,781,300 395,320 5,176,620
682,300 63,600 63,600 602,300
1988. 1. 1 —
571,200 42,200 (a)42,200 571,200
1,253,500 105,800 105,800 1,253,500
30,000 10,400 30,000
(¢)10,400
1,223,500 95,400 105,800 1,223,500
1988. 12. 31 10,400
337,100 19,200 356,300
( 370,000 45,600 415,600
830,000 52,500 882,500
395,400 — —
S (2)395,400
( 3,551,000 354,900 3,905,900
5,483,500 472,200 5,560,300
395,400
260,000 76,800 336,800
4,000,000 300,000 (a)300000 Lo 100 4,000,000
1,223,500 95,400 105,800 ' 1,223,500
( 10,400
5,483,500 472,200 405,800 5,560,300
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’
~
1 “ ”
“ ”
“ ”
°
2 “ ”
“ ”
’ H
“ ” “ ”
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XXX
XXX

XXX
XXX

XXX
XXX
X XX

XXX
XXX
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XXX
XXX

XXX
XXX

XXX
XXX

XXX
XXX

XXX
XXX

XXX
XXX
XXX
XXX
XXX

XXX
XXX
XXX
XXX
XXX
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XXX
XXX

XXX

XXX
XXX

XXX
XXX
XXX
X XX

XXX
XXX
XXX

XXX
XXX
XXX

XXX
XXX

XXX

XXX

XXX
XXX

XXX
XXX
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XXX
XXX

XXX
XXX
XXX

— XXX

XXX
X XX

XXX
XXX

XXX
XXX

(D)

C 9.10. 1] s NORWAY ,

NORWAY ( )

$12,000
140,000
40,000
200,000
190,000
$ 582,000

$60.,000
15,000
180,000
300,000
27,000
$ 582,000
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: $139,000; : $ 38,200,
$195,000, $187,000; , $10,000,
(D
$420,200(= $ 38,200+ $ 187,000+ $195,000)
9,800
(= $200,000+ $ 190,000+ $40,000— $420,200)
$40,000
190,000
200,000
(2)
$193.300
700(= $140,000— $ 139,300)
: $ 140,000
(3) : s ) )
(a) $ 180,000
: $ 180,000
b $ 15,000
$ 15,000
(o) $10,000
: $10,000
(d $ 60,000
: $ 60,000
4) )
(a) $10,000
: $10,000
(b $ 20,500
$20,500
(3
$ 300,000
6,500
$306,500
, : $ 37,000, $ 160,000,
$ 150,000, ,

(@Y
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$ 347,000
83,000
$ 40,000
$ 200,000
$ 190,000
(2
(3
4 )
(a) $10,000
: $10,000
(b) $93,700
$93,700
(5)
$ 300,000
$66,700
233,300
, (5) . ., NORWAY
$ 100,000 $ 200,000,
(a) $ 100,000
$ 100,000
(b) $ 200,000
$66,700
133,300
C 9.10. 2JNORWAY
NORWAY ( )
$ 130,000 $ 220,000
250,000 380,000
320,000 600,000
2,000,000 3,000,000
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6,000,000 $4,200,000
$ 100 $i5,ooo,ooo
500,000 $ 4,500,000
$8.,700,000 $8.700,000
(D s $1.000,000, $ 1,200,000, (
)3
(2 $100,000;
3 $ 100,000 ;
4 $5,000,000  $4,600,000, $50
$100 ;
(5 6% $ 3,000,000, 30,000 $ 100,
(6) $120,000 , ;
D) 1/2,
(1 $1,200,000
$ 1,000,000
200,000
2) $ 100,000
$ 100,000
$ 100,000
: $ 100,000
(3) $ 100,000
: $ 100,000
4 . ( $ 100 ) $5.000,000
$ 400,000
( $50 ) 4,600,000
5 $ 3,000,000
: —6% $ 3,000,000
6) $120,000
: $120,000
7 $50,000

190,000
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300,000
$ 540,000
NORWAY ( )
$ 690,000 $ 50,000
130,000 190,000
320,000 300,000
1,000,000 $ 540,000
6,000,000 6%
$ 100,
$ 3,000,000
$ 50, 7,600,000
$ 4,600,000
$ 8,140,000 $ 8,140,000
(2):
, (
\ ( R s
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”
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¢
(
)
(D)
C 9.10. 3INORWAY ) , ,
, 1981 1 1 o 1981

(D $ 250,000
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(2)
(3
4
5
(6)
D)
(8
(9
1o
an
(@)
(13
a4
(15
(16)
an
(18
(@8D)
20)
2D

(22)1981

b

S

500

$2.,000
. 1981 12 31 ,
$7.500
$5,000

, $7,000,
) $1,000 ;

5%, 5%,

$ 15,000,

$ 3,000,

~

10%;
$ 2,000,

600,
$10,0

(NORWAY

75,000

$ 98,000
15,000

200,000

40,000

50,000 403,000
$ 125,000
45,000

10,000

5,000

100,000

1,500

1,500

40,000

19,500

29,400

19,600

3,000 399,500

NORWAY

$400;
00, 20,000,

)
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(1985 1
1993

(

21
12

29

)
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31
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1985 5 1 o
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(1992

D

30
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Vi

(1992

)

5

23 N )

o s §
1 1 12 31 o N

§



1176

e



1177




1178

)



1179




1180




1181




1182




1183

),

)



1184




1185

—S N N F H © o~ 0



1186




(

)



1188

© 0 NN O Ul = W DN =

DO DO DO DD = = e e e e e e
w N = O O 0NN Oy U ke WD = O

24
25
26
27
28

101
102
103
111
112
113
114
121
122
123
124
125
141
151
152
161
162
163
165
171
172
173
181

201
202
203
211
212
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“233

29 214
30 221
31 222
32 223
33 231
34 232
35 251
36 252
37 253
38 301
39 311
40 312
41 321
42 322
43 401
44 405
45 405
46 511
47 521
48 601
49 611
50 621
51 631
52 641
53 651
54 671
, “137 ?
“131 7
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”»

“140
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”;“241

101
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;4166
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;4505

”

“234

;4605

;4653
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BB $ 200,000~ $ 300,000 1 2 3 4
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CcC $75,000~ $ 125,000 1 2 3 4
DC $50,000~ $ 75,000 1 2 3 4
DD $ 35,000~ $ 50,000 1 2 3 4
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GG $5,000~ $10,000 1 2 3 4
HH $5,000 1 2 3 4
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1100000 (10 ,89%) 2000000
( 1000 ,
20 998 3,000,000
8000000
( 100 799 2000000
( 10 ) 5000000
5000000
20000000 20000000
1. 00
12. 00
0.75
5.5%

7.00
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76. 25
997. 50
50%
20%
200000
1.
(D . 10. 4.5, 10. 4. 2 , ,L=2000000,
N=10,H=20%,J=200000 ,T.=50%.
K — 1A=TH _ _ 2000000X8X(1—50%)
LL(I—H)+] 2000000X (1—20%)+200000
=4.44%
( 10. 4. 1)
(2 . 10. 4.9, 10. 4. 2 , . T.=50%,F=
0,M=1000 ,P=9975 ,I=1000X9%=90C ),
. I(1—Te) 90X (1—50%) 0
Ky PP 997.5x(1—0) 54%
( 10. 4. 2)
(3) . 10. 4. 19, 10. 4. 2 , .D=7.00 .,P
=76.25 L,F=0,
Db 7.00 _ .
K==/ 76 51—y 0 18%
( 10. 4. 4)
(4) . 10. 4. 13, 10. 5. 2 , .P=12.00 ,
D1=0.75 ,g=5.5%,F=0
_ Dl _ O- 75 0 _ 0
K= TP Tz ooxa—o N7
( 10. 4. 3)
(5) . 10. 4. 25, 10. 4. 2 , .P=12.00
,D,;=0.75 ,g=5.5%,F=0, T.=25%
_ D, _
Kr—EP(liF)+g](1 T,)
- 0.75 o
=200 (=g T2 59X A—2500)

=8.81%
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@

997. 50

76. 25

12. 00

R,.=5,

o 10. 4. 26,

L.=2000000,H=20%,]=200.,000,

L, =L(1—H)+J=2,000,000X (1—20%)42000,000

( 10.4.7)
@ 10. 4. 27,
JF=0,N=3,000,
P >2=P(1—F)N=997.50X3,000
=2,992,500C )
( 10. 4. 8)
) . 10. 4. 28,
,F=0,N=20,000,
P, 2 =P —F)N=76.25X20,000
=1,525,000C )
( 10. 4. 9)
O) . 10. 4. 29,
,F=0,N=500,000,
:P..>2=P(1—F)N =12.00X500,000
=6,000,000C )
( 10. 4. 10)
® . 10. 4. 30,
R=5000000 ,
:R,=R=5000,000
( 10.4.11)
(2 .
10. 4. 31 . ,
L,=1,800,000 ,P,>=2,992,500 ,P,,>=1,525,000
000,000

!C :Ln—’_Pan_’_Py;l‘z_’_PncZ—’_Rn

10. 4. 2 .
10.4.2 , , P
10. 4.2 s , P
10.4. 2 s ,P

10. 4.2 s

,P..22=6,000,000

=1,800,000+2,992,500+1,525,000+6,000,000+5,000,000

10.4.12)

(€)) o

10. 4. 32,

’
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®
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3

_Pu> 2,992,500

L, 1,800,000 _,
= C T 17.317.500 107

~17%

C 17,317,500

_Pp> 1,525,000 .,
- C _17,317,500”5%

_ P> 6,000,000

— ~350
C T 17.317.500 30

R, 5,000,000
C 17,317,500

10. 4. 13)

~30%

10. 4. 33,

Kw :WLKL—*—WL’KL’ —’_WPKP—FWCKC_'_W,,KY
=4.44% X10% +4.54% X 17% +9.18% X 8% +11. 75% X 35% +8. 81 % X30%

=8.6947%
.NORWAY 1989 10 28
Ky =38.6947%,
. ( 10.4.3),
10.4.3
(3)=(2)
) (4)=(1)X(3)
(D ) =3(2)
4. 44% 1,800,000 10% 0.444%
4.54% 2,992,500 17% 0.7718%
9.18% 1,525,000 8% 0.7344%
11.75% 6,000,000 35% 4.1125%
8.87% 5,000,000 30% 2.643%
17,317,500 8.6947%
() (K.)
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10. 4. 34
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!
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( 10. 4. 35

( 10. 4. 36)
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EBIT ,

(3

EBIT ,EBIT

( DOL),
@V

AEBIT/EBIT
AS/S

DOL=
DOL——
AEBIT—
EBIT——
AS——
Si
AEBIT/EBIT
AS/S

C 10. 4. I5JNORWAY

10.4.3, 10.4.4 10. 4.5,
10. 4. 40, 10.4.3, 10.4.4
_ AEBIT/EBIT

POL==775/s

EBIT(

o EBIT

”» “ ”»

”

o EBIT

(

10. 4.5

EBIT

10. 4. 40)

10%
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(15,700—12.,000)
12,000 _

(110,000—100,000)
100,000

3.1

10.4.3 NORWAY

100,000
70,000
10,000
5,000
3,000
88,000
EBIT 12,000
10.4.4 NORWAY (
( 0. 60/ ) 60,000 10,000
( .0.03/ ) 3,000 7,000
5,000
3,000
63,000 25,000
0.63
10.4.5 NORWAY 10% (
110,000
(110,000 X 0. 604+10,000) 76,000
(110,000 X 0. 034+7,000) 10,300
5,000
3,000 94,300
EPIT 15,700
10. 4.3 10. 4. 4 10.4.5
10. 4. 40 . ,

(2 0
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r S ,V
S, (S+rS).
(V+r1V), (S—V—F),
((S+rSI—(V+rV)—F]
10. 4. 40
EBIT/EBIT
DOLzzéé—Zsﬁg——
_ AEBIT/EBIT
rS/S
_ AEBIT/EBIT _ AEBIT
r EBIT « r
:[(SJrrS)*(V+rV)*F]*(S*V*F)
EBIT - r
_1S—rV _ (S—Vr
EBIT-r EBIT - r
_S—V
EBIT
pOL=3—X
. 10. 4. 15 :
10. 4. 41, 10. 4. 3 10.4. 4
IX)L::100,%%1055,000223.1
10.4.15 1%, EBIT
B A% —1%=)2.1%
(3)
o “ »
) , DOL=3.1%,
: 1% LEBIT 3.1%,
@ 10. 4. 41,
) L (S—V) “
. ( .

,F ,
rv,

( 10.4.41)

(1% X%X3.1=)3.1%,

2.1% .
(S—V)
. (S—W)
(
7, L, (S—V)
)
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10.4.1
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DFL:AAE%?EEIST 10,442
DFL—
AEPS—
EPS—
AEPS
EPS
AEBIT
EBIT
10. 4. 42, , .
( n:
_ X
X
_nXAEPS_ AEPS
n X EPS EPS
AEPS
" EPS °
C 10.4.16JLS  GS 10. 4.6,
10. 4. 42
LS DFngg—é:L 00
GS DFLZZZ'OB%% —1. 364
10. 4.6, LS GS (
10,000,000 ). . EBIT ( 1,500,000 ),EBIT
( 20%) , LS
,GS . LS
EBIT ( 20%), DFL=1.00; GS EBIT 20%
, 27.3%, LS 7.3%,
DFL=1. 36,
.GS .
. . LS GS EBIT 20%, LS
DFL=1.00, 20% GS DFL=1. 364,
GS (20% < 1.364=)27.3%, LS
7.3—— EBIT . ,DFL .
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. .GS
10.4.6 LS GS
LS GS
( $10) 1,000,000 500,000
( 8%) $5,000,000
$10,000,000 $10,000,000
EBIT 1,500,000 1,500,000
400,000
( 40%) 600,000 440,000
900,000 660,000
0. 90 1.32
EBIT 20% 20%
EBIT 1,800,000 1,800,000
400,000
720,000 560,000
1,080,000 840,000
1,08 1. 68
0,18 0. 36
20% 27.3%
1. 00 1. 346
(2) . 10.4.42 ,
:n
I ( )
L
d
T
:n X AEPS
n X EPS
, EBIT ,

n X AEPS=AEBIT(1—T)
s EBIT .

( 10. 4. 43)
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nXEPS=(EBIT—I—L)(1—T)—d
10. 4. 43 10. 4. 44

_ AEPS/EPS
PFL = EBIT/EBIT

_nXAEPS  EBIT
nXEPS " AEBIT

_ AEBITU—T)
(EBIT-1—-L)(1—-T)—d

_ EBIT
EBIT—1—L—

« EBIT
AEBIT

d

1—T

EBIT
EBIT—I—L—

DFL= q

1—=T
10. 4. 16
10. 4. 45,
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1,500,000
1,500,000—400,000

LS DFL= =1.00

GS DFL= 1. 36

b

b

(DOL) (DFL)

_ AEBIT/EBIT

DCL=DOLXDFL X

10. 4. 42

AEPS/EPS

o AS/S

_ AEPS/EPS
AS/S

b

_ AEPS/EPS
AS/S

DOL  DFL
S—V

DCL

AEBIT/EBIT

S—V
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(

(

(

< EBIT

DCL=DOL X DFL=
EBIT pprr—1-1.—

d
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T
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d

1

T
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10. 4. 45)
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b

DCL= STV )
EBIT—1—L—1—

C 10.4.17) NORWAY S=8000,000 ,
500,000 LEBIT EBIT=2,500,000 1=400,000
200,000 d=500,000 , T=50%,

10. 4. 47, :
DCL— 8,000,000—4,500,000 =194
2,500,000—400,000—200,000— o.’5o
,DCL=1.94 : 1%,
(1% X1.94=)1.94% )
0.94%,
DCL DOL DFL . DOL DFL 1,
( ) )
C 10. 4. 18INORWAY 10.4.7
10. 4. 47 NORWAY

beL= 2604,007000OE 1 63,2000’00300 —80-00

DOL=5.0

DFL=16.0

) . DOL DFL DCL

( 10.4.7 ) 1%, EPS 80% .

1%, EPS 80 % .

10. 4. 18 : )

(

10. 4. 47)

DCL
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10.4.7 NORWAY
1989 (1988.12.31~1989. 12. 31)

, GS

(
1% 1%
640,000 646,000 633,600
320,000 323,200 316,800
300,000 300,000 300,000
EBIT 20,000 23,200 16,800
16,000 16,000 12,000
4,000 7,200 800
(50%) 2,000 3,600 400
2,000 3,600 400
1 (D
EBIT 16 (16)
EPS 80 (80)
1.
( )y
, ; , ., EBIT ,
(D . :
C 10. 4. 197LS GS 10.4. 8
10. 4. 8 .LS , , GS
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10.4.8 LS GS
LS GS
( $10) 100,000 50,000
( 6%) $ 500,000
$ 1,000,000 1,000,000
80,000 80,000
20,000 20,000
30,000
2) o :
C 10. 4. 20JNORWAY 10. 4.9 NORWAY
. 10. 4.2
EEPS OEPS
B 1 1 1
3 3 3
10.4.9 NORWAY
(XD (P
( )
50%)

$ 4,000 f% $2.00 $1.50

$6,000 f% $ 3. 00 $3.50

$ 8,000 {% $ 4. 00 $5.50

c EPs:\/%(Z*?))Z+%(3*3)2+%(4*3)2

=0. 82( )

E mps=1. 5><%+3. 5><%+5. 5><%=3. 50(
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o Eps:«/%(l.5—3.5)%%(3.5—3.5)%%(5.5—3.5)2

=1.63( )
E EPS <E EPS 0 EPS <G EPS o

EPS

T EBII( )
10. 4.2
(3) \ :
C 10.4.21JLS  GS 80,000 .
, . 10,000 .
50%, . GS
. , GS (CV:%) ( 10.4.10),
0.10
,GS , LS 0.10 s (m*)
25%. ,GS , LS
0.3, <E=>6o%

0.5
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10.6.6 LS GS
LS GS
( $10) 100,000 50,000
$ 500,000
$1.000,000 1,000,000
80,000 80,000
30,000
(E) 80,000 50,000
( 50%) 40,000 25,000
( ) 40,000 25,000
40,000 25,000
100,000 040 50,000 020
(6) 40,000 40,000
. 40,000 40,000
(CV) 80,000“0'5 50,000 0-8
2.
) (PO)
- Dt
R*P§<Lng ( 10. 4. 48)
s t—oco L, Dt R
_ P
PO——KL ( 10. 4. 49)
, 10. 4. 49 (D),
(Egps)
K. (
K. =i+0 ( 10. 4. 50)

6:61 +62

( 10.4.51)
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(EPS) ,
C 10. 4. 22INORWAY 10. 4. 11, .NORWAY
. 10.4.12 EBIT EPS
( )
10.4.11 NORWAY
A, 100 ( $50) $ 50,000,000 0 50%
B. 80 ( $50)
! $50,000,000 | $10,000,000 | 50%
$ 10,000,000 8%
10.4.12 NORWAY EPS
EBIT EPS
A $ 2,000,000 $ 2,000,000 $ 1,000,000 $1.00
$ 4,000 000 $4,000,000 $ 2,000,000 $2.00
$ 8,000,000 $ 8,000,000 $ 4,000,000 $4.00
B $ 2,000,000 $1,200,000 $ 600,000 $0.75
$ 4,000,000 $ 3,200,000 $1.600,000 $2.00
$ 8,000,000 $7.200,000 $ 3,600,000 $4.50
10. 4. 11 10. 4. 12 ( 10. 4.5 )
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C 10. 4. 23JNORWAY : A B.
10. 4. 14 10. 4. 15,
: A . S A 10. 4. 14,
10. 4. 14, . A 8.6947% .
, B . 10. 4. 15,

_ 200,000,000 _, o,

Wi 50,000,000
10. 4. 14 A

( 10 , 5,000,000 )
1. 00
12. 00
0.75
5.5%

( 100 , 2,000,000, )
7. 00
76. 25

( 1000 ,20 L99%)
99.7
50%

20%
200,000
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10. 4. 15 B
20,000,000
32%
10,000,000
8.2%
10,000,000
16.5%
10,000,000
16 %
50,000,000
4. 44% 10% 0.444%
4.54% 17% 0.7781%
9.81% 8% 0.7344%
11.75% 35% 4.1125%
8.81% 30% 2.643%
8. 6947 %

W

W,

W,

10,000,000 _, o

~ 50,000,000
10,000,000 _,
50,000,000 20%

__10,000,000_,,
50,000,000 20
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3.2% 40% 1.3%
8.2% 20% 1.6%
16.5% 20% 3.3%
16% 20% 3.2%
9.4%
B 9.4%.,
( B .
b b b )o
. A.B
KA <K
, A,
A .
A EBIT—EPS
10. 4. 23
10. 4. 23 .
( ) . )
(D
K, == ( 10.4.54)
’ PnL
K.
IA
P.
TA
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2)

_E_D
K=p ~=p
K.—
Ei
Pnc
Di
PA
(3

_A I+E
K“*V*Pﬂ+Pm
K,—
A—o , (I+E)
V— , (P.+P.0

10. 4. 56
Ko — I+E K/ P, /A—T)+KP,
v PnL _'_ Pnc PnL _'_ Pnc
_ P.. P,
RN e e Y Bt RS oy oy
Pn[‘ Pnc
’ PnL _'_ Pnc ’ PnL + Pnc
C 10. 4. 24INORWAY $ 1,000,000,
, , ., EBIT $250,000,

WAY s

( 10.4.55)

( 10. 4. 56)

( 10. 4.57)
. 100,000
50%, NOR-
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$.— — $10.00
$ 100,000 6.0% $10. 00
$ 200,000 6.0% $10. 50
$ 300,000 6.5% $10.75
$ 400,000 7.0% $11.00
$ 500,000 8.0% $10.50
$ 600,000 10. 0% $9.50
EBIT $ 250,000
X (D
$250,000—1
(50%) $125,ooo—%
I
$125,ooo—3
EP
S (n)
. I
$ 115,000~
(Ke) . > D)
__ PnL & Pnc
Ke=(p 2907 % T, +p, ) K
$100,000( 6%) ($1,000,000
— $100,000=) $900, 000, $10.00/ ,
(%:no,ooo , (100,000—10,000=)90,000
0) (P,
PI\C: ><
=90,000X $10=900,000
@) (Ko
0
$125.00— L $125,000— 2100:000X6%
K — 2 2

np a $900,000
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=13.56%
(2)

P. K1
P, +P, "

_ ﬂ>1oo,ooo 6% _ B
= 1,000,000 % 7 —107X30%6=0.3%

(3)

ﬁx&
=%x13. 56 % =90% X 13. 56 % =12. 204 %
4)

PnlpiPm +Pn1 +um X Ke

=0.3%+12.204% =12.504%

(P,0) (P, K. PPTIP( ~ % PP% e K,
$100,000 | $900,000 | 13.56% 0.3 12.204% 12.504%
$200,000 | $840,000 | 14.17% 0.577% 11.445% 12.022%
$300,000 | $752,000 | 15.32% 0.926 % 10.953% 11.879%
$ 400,000 | $660,060 | 16.82% 1.321% 10. 473 % 11. 794 %
$500,000 | $525,000 20% 1.951% 10. 240 % 12.195%
$ 600,000 | $380.,000 25% 3.061% 9.694% 12.755%

’ : $ 400,000,
$660,000 NORWAY . $11.00/ .
, 11.8%., .

’

, ( 10. 4.6 )
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) . , A
. A NN 40%  33%.,
10,000 10,000X40% =4,000 ,
, , 5,000
X40%=2,000 5,000X33%=1,650 , 2,000+
1,650=3,650 4,000—3,650=350 ,A 350
o o A, B ,A.B
40%  30%., 10,000 . A 10,000 X
40%=4,000 “ 7 . B
, A 5,000X40%=2,000 B
5,000X33%=1,650 . 350 )
A (10,000—15,000) X 40% =2,000 B
5,000X33%=1,650 . ; “
, . , A
B, . , 40%
A . 60% B . . B
100,000 ) 55% 35%, )

B :
100,000 X 35 % =35,000

100,000—35,000=65,000
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A B . A

65,000X40% =26,000

B :
65,000X60% =39,000

A B , B
50,000 50,000 A, . B

50,000 35%=17,500

B

50,000—17,500=232,500
B A B , A
32,500 X40% =13,000

32,500 X60%=19,500
A 50,000
50,000 X55%=27,500
50,000—27,500=22,500
. \ A 22,500
13,000+22,500=35,500
\ A
35,500—26,000=9,500
50,000 (55% —33%) =10,000
27,500

50,000 X 35%=17,500

39,000—19,500=19,500
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. 100,000 30% )
30,000 ( Do

0—10,000 15%

10,000—20,000 20%

20,000—50,000 30%

50,000—100,000 35%

100,000—300,000 40%

300,000 45%

10,000 X 15% + (20,000 — 10,000) X 20% -+ (50,000 — 20,000) X 30% —+
(100,000—50,000) X 35%=230,000
, 30%, .
. . 80,000 :
10,000 X15% -+ (20,000—10,000) X20% -+ (50,000—20,000) X30% -+ (80,000
—50,000) X35%

=23,000
23,000 .
80,000 28757

, 1.25%., . ,
80,000 30%, ,

’ o ’ o
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+Ht

++

1993 . (
), 1993 . 100, 000 1 ),
20 . 5,
( ( C )
T 1 20,000 10 200,000
31 80,000 14 1,120,000
5 1 60,000 11 660,000
g 1 20,000 13 260,000
11 1 90,000 15 1,350,000
(G (%)
1,000 10
1, 000 3, 500 20
3,500 10,000 28
10,000 25,000 35
25,000 50,000 42
50,000 100,000 48
100, 00 200, 000 55
200,000 53
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@
. 20,000 11 10

, 80,000 3 1 14 ,
20,000X10+80,000X14=1,320,000

1,320, 000+100,000X5=1,820,000

100,000X20=2,000,000

b

2,000,000—1,820,000=180,000

1,000X10%+ (3,500—1,000) X20% -+ (10,000—3,500) X28% + (25,000 —
10,0000 X35%+ (50,000—25,000) X42% -+ (100,000—50,000) X48% + (180,000
—100,000) X53%=84,570
@
, 90,000 11 1 15
s 10,000 8 1 13 .
90,000X15+10,000X13=1,480,000

1,480,000+100,000X5=1,980,000

100, 000X20=2, 000, 000

b

2,000,000—1,980,000=20,000

1,000X10%+ (3,500—1,000) X20% 4+ (10,000—3,500) X28% + (20,000—
10,000) X35%=5,920
©)

(20,000X10+80,000X14+60,000X11+20,000X134+90,000X15) -+ ((20,000+
80,000+60,000+20,000+90,000) =13.3
13.3 s
100,000X13.3=1,330,000

1,330,000+100,000X5=1,830,000

100,000X20=2,000,000
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11

b

2,000,000—1,830,000=170,000

1,000X10%+ (3,500—1,000) X20% 4+ (10,000—3,500) X28% + (25,000—
10,000) X 35% + (50,000 — 25,000) X 42% 4+ (100,000 — 50,000) X 48% —+
(170,000—100,000) X53%=79,270

@

10,000 , 11 1 12 31 ) 12 1 90,000
9 1

20,000 X10480,000X14+60,000X11+20,000X13
20,000+80,000+60,000+20,000

_ 2,240,000
180,000

9 1 .9 1 s
20,000480,000+60,000+20,000—10,000=170,000

=12.44

2, 240, 000 _
17O,OOOXW—2, 115, 555, 6

11 1 ,

2, 115, 555, 6+90, 000X15
170, 000490, 000
121
10,000X12. 44490,000X13.33=1,324,100
S5

=13. 33

1,324,100+100,000X5=1,824,100
2,000,000 s
2,000,000—1,824,100=175,900

1,000X10% + (3,500—1,000) X20% + (10,000—3,500) X28% + (25,000—
10,000) X 35% + (50,000 — 25,000) X 42% + (100,000 — 50,000) X 48% +
(175,900—100,000) X53% =82,397
©,
10,000 11 . 0 .

90,000 . 60,000 5 1 . 11, 30,000
1 15 s
10,000X10+60,000X11430,000X15=1,210,000
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1,210,000+100,000X5=1,710,000
2,000,000
2,000,000—1,710,000=290,000

’

1,000X10%+ (3,500—1,000) X20%+ (10,000—3,500) X28% + (25,000—
10,000) X 35% 4+ (50,000 — 25,000) X 42% 4+ (100,000 — 50,000) X 48% —+
(200,000—100,000) X53%-+ (290, 000—200, 000X55% =144, 670

b

b

10%,

84,570 ,
79,270 ,
, 144,670
11 60% , 15 30%.,
, 15 90% .,
( )
; (2) ; (3

5,920
82,397
24
, 10
13 10%.,
¢ )
(D
(2)
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80,000 . 2,000 5
i 33%
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40,000 400
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50,000 500
48,000 480
40,000 400
30,000 300
208,000 2,080

1* 0
- =20%

=20% X (80,000—2,000) =15,600

40,000*15,600‘:24,400
24,400><33%zé,052
5o,ooo—15,6oo;34,4oo
34,4oo><33%:i1,352
48,000—15,600;32,400
32,400><33%=i0,692
4o,ooo—15,6oo;24,4oo
24,400><33%=é,osz
30,000—15,600.:14,400

14,400X33% =4,752

8,052+11,352+4+10,692+8,052+4,752=42,900

@
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400
2,080

X (80,000—2,000) =15,000

40,000—15,000=25,000
25,000X33%=8,250

500
2,080

X (80,000—2,000) =18,750

50,000—18,750=231,250
31,250X33%=10,312. 5

480
2,080

X (80,000—2,000) =18,000

48,000—18,000=230,000
30,000X33%=9,900

400
2,080

X (80,000—2,000) =15,000

40,000—15,000=25,000
25,000%X33%=8,250

300
2,080

X (80,000—2,000) =111,250

30,000—11,250=18,750

18,750X33%=6,187.5

8,250+10,312.5+9,900+8,250+6,187. 5=42,900

®)
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2><%><1oo%:4o%

8o,ooo><4o%=éz,ooo
4o,ooo—éz,ooo=8,ooo
8,000><33%:2j64O

(80,000—32,00(.)) X 40%=19,200
so,ooo—i9,zoo:3o,8oo
30,800><33%:;o,164
(80,000—32,005—19,000) X40%=11,520
48,000—i1,520=36,480
36,480><33%=i2,038. 4

b b

80,000—32,000—19,000—11,520—2,000 _

2 7, 640
> (80, 000—32, 000—19, 200—11, 520) X40=6, 912
, N 7,640

40,000—7,640%2,360
32,360><33%:i0,678.8
30,000—7,64(.)=22,36O
22, 360><33%::7, 378, 8

2,6404+10,164+12,038.4+10,678. 8+7,378. 8=42,900
@
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1+2+3+44+5=15

%X (80,000—2,000) =26,000

40,000—26,000=14,000
14,000X33% =4,620

%X (80,000—2,000) =20,800

50,000—20,800=29, 200
29,200%X33%=9,636

15—5>< (80,000—2,000) =15,600

48,000—15,600=32,400
32,400X33%=10,692

%X (80,000—2,000) =10,400

40,000—10,400=29, 600
29,600X33%=9,768

11—5>< (80,000—2,000) =5,200

30,000—5,200=24,800

24,800%X33%=8,184



— 1730 —

4,6204+9,636+10,692+9,768+8,184=42,900

b o

42,900 N ,
8,052 8,250 2,640 4,620
11,352 10,312.5 10,164 9,636
10,692 9,900 12,038. 4 10,692
8,052 8,250 10,678. 8 9,768
4,752 6,187.5 7,378.8 8,184
42,900 42,900 42,900 42,900
, : 10%.
11,352 10,692 2 8,052 4,752 _
8’052+<1+1o%)+(1+1o%> +(1+1o%)3+<1+10%)* 36,503. 6
10,312.5 9,900 8,250 6,187.5 _
8250 T 0% T A+10%) T (AL10%)° (A+10%)" 2002815
10,164 12,038. 4 10,678. 8 7,378.8 _
2,640 T 090 T A110%), T A F10%), T (100, 048921
9,636 10,692 9,768 8,184 .
5820 T 0y T a0 T A F10%)° T dt10%) o014

b b
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o ’ ( 3i2) ’

1,000X10%+ (3,500—1,000) X20%-+ (10,000—3,500) X28%+ (24,400
—10,000) X35%=7,460

1,000X10% + (3,500—1,000) X20%—+ (10,000—3,500) X28%+ (25,000
—10,000) X35%-+ (34,400—25,000) X42%=11,618

1,000X10%+ (3,500—1,000) X20%-+ (10,000—3,500) X28% 4+ (25,000
—10,000) X35%-+ (32,400—25,000) X42%=10,778

1,000X10%+ (3,500—1,000) X20%-+ (10,000—3,500) X28%+ (24,400
—10,000) X35%=7,460

1,000X10% + (3,500—1,000) X20%-+ (10,000—3,500) X28% 4+ (14,400
—10,000) X35%=3,960

7,460+11,618+10,778+7,460+3,960=41,276

11,618
(1+10%)

10,778
(14+10%)?

7,460
(1+10%)°

3,960

7,460+ (1+10%)"

+ + 1

=35,238.8

1,000X10% + (3,500—1,000) X20%—+ (10,000—3,500) X28% 4+ (25,000
—10,000) X35%=7,670
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1,000X10%+ (3,500—1,000) X20% -+ (10,000—3,500)
—10,000) X35%+ (31,250—25,000) X42%=10,295

1,000X10% + (3,500—1,000) X20% -+ (10,000—3,500)
—10,000) X35%+ (30,000—28,000) X42%=9,770

1,000X10%+ (3,500—1,000) X20%-+ (10,000—3,500)
—10,000) X35%=7,670

1,000X10%+ (3,500—1,000) X20% -+ (10,000—3,500)
—10,000) X35%=5482.5

7,670+10,295+9,770+7,670+5,482. 5=40,887. 5

10,295

9,770 7,670 5,482.5
7’67O+(1+1o%>+<1+1o%>2+(1+1o%)3+(1+1o%>/‘

X28% -+ (25,000

X28%+ (25,000

xX28% -+ (25,000

X28% -+ (18,750

=34,610.7

1,000X10% + (3,500—1,000) X20%-+ (8,000—3,500) X28%=1,860

1,000X10%+ (3,500—1,000) X20%—+ (10,000—3,500)
—10,000) X35%-+ (30,800—25,000) X42%=10,106

1,000X10% + (3,500—1,000) X20% -+ (10,000—3,500)
—10,000) X35%+ (36,480—25,000) X42%=12,491.6

1,000X10% 4+ (3,500—1,000) X20%—+ (10,000—3,500)
—10,000) X35% -+ (32,360—25,000) X42%=10,761.2

X28% -+ (25,000

X 28% 4 (25,000

X28% -+ (25,000

1,000X10%+ (3,500—1,000) X20%-+ (10,000—3,500) X28%+ (22,360

—10,000) X35%=6,746
1,8604+10,106+12,491. 6-+10,761. 2+6,746=41,964. 8

10,106

12,491.6 10,761. 2 6,746
L8603 1000 T (04 10%)7 T A1 10%)° T AF10%)

=34,063.6
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@

1,000X10% + (3,500—1,000) X20%—+ (10,000—3,500) X38% 4+ (14,000
—10,000) X35%=3,820

1,000X10% + (3,500—1,000) X20%—+ (10,000—3,500) X28% 4+ (25,000
—10,000) X35% 4+ (29,200—25,000) X42%=9,434

1,000X10%+ (3,500—1,000) X20%-+ (10,000—3,500) X28%+ (25,000
—10,000) X35%-+ (32,400—25,000) X42%=10,778

1,000X10%+ (3,500—1,000) X20%-+ (10,000—3,500) X28% 4+ (25,000
—10,000) X35%-+ (29,600—25,000) X42%=9,602

1,000X10%+ (3,500—1,000) X20%-+ (10,000—3,500) X28%+ (24,800
—10,000) X35%=7,600

3,82049,434+10,778+9,602+7,600=41,234
9,434 10,778 9,602 7,600

3820 T 09 T AR 10907 T (Ah10%)° (A F1004yt 0007088

24,400 7,460| 25,000 | 7,670 8,000 | 1,860 14,000 3,820

34,400 11,618| 31,250 10,295 30,800 10,106 29,200 9,434

32,400 10,778| 30,000 | 9,770 36,480 [12,491.6 | 32,400 10,778

24,400 7,460| 25,000 | 7,670 32,360 [10,761.2 | 29,600 9,602

14,400 3.960| 18,750 [5,482.5 22,360 | 6,746 24,800 7,600

130,000 | 41,276| 130,000 40,887.5 | 130,000 [41,964.8 | 130,000 | 41,234

—  135,238.8 —  |34,610.7 —  134,063. 6 —  133,708.8







. 1983 o ,

) , 100 > 5 25%,
( 372)0 ’

1,000, 000X 25%=250,000

1,000X10%+ (3,500—1,000) X20% 4+ (10,000—3,500) X28% + (25,000—
10,000) X35% -+ (50,000—25,000) X42%-+ (100,000—50,000) X48% 4+ (200,000
—100,000) X53%-4 (250,000—200,000) X55%=122,670

122,670 X5=613,350

10% . , ,
1,000,000X10%=100,000
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1,000,000X25% —100,000=150,000

1,000X10%+ (3,500—1,000) X20% -+ (10,000—3,500) X28% 4+ (25,000—
10,000) X35% -+ (50,000—25,000) X42%-+ (100,000—50,000) X48% 4+ (150,000
—100,000) X53%=68,670

68,670 X5=343,350
. 610,350
343,350 270,000, ,
60% .

; 15% . 10% . ;
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10%,

35%

55%,

o

b

1994

1

33%



QY
(2)
3

“

”)
’

)

, 1992,

20



1 , , 55% .
6.8% . (
3—2), N

200,000X55%=110,000
200,000X6. 8% =13,600
110,000+13,600=123,600

1,000X10% + (3,500—1,000) X20%+ (1,000—3,500) X28%=2,420

123,600+2,420=126,020

126,020

0/ —ano
ZOO,OOO—FIO,OOOXlOOA 6OA

b A ’ ’

s 100,000 ,
110,000

100,000 X 55 % =55,000
100,000 X 6. 8% =6800
55,000+6,800=61, 800

1,000X10%+ (3,500—1,000) X20%+ (10,000—3,500) X28% + (25,000—
10,000) X35% -+ (50,000—25,000) X42%-+ (100,000—50,000) X48% + (110,000
—100,000) X53%=47,470

A b

61,800+47,470=109,270

N b

109,270

0/ —r£90
100,000—0—110,000><1OO/0 52%

; . , 126,020
109,270 16,750 60 % 52%,

8 .



. A. B, C )
A
( (%)
1—20 15
20—30 20
30—40 25
40 35
B
( (%)
0—10 18
10—20 20
20—30 22
30—40 28
40 35
C
( (%)
0—10 5
10—20 10
2030 15
30—40 22
40 28
: A, B, C . 1992, 250,000 . 300,000

80,000
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200,000 X15%+ (250,000—200,000) X20%

=40,000
A
40,000 0 a0
7250’OOO><1004 16%
B

100,000X18% + (200,000 — 100,000) X 20% + (300,000 — 200,000) X 22% =
60,000

B
%xwo%:zo%
C :
80,000 X5% =4,000
C
§8:888x1oo%:5%
A, B, C ,
40,000460,000+4,000=104,000
A, B, C ,
250,ooo+13004o’,000000+80,ooo X100%=16.5%
A, B, C . A 20% . B
22%, C 5%, ,
, . B
. 22%, , B C. ,
200,000 , B 18%.,
A 20%, B 200,000 c C
280,000 15%, . A 20%., ;
A C. , C
15%., ,
300,000—280,000=20,000
A 250,000 20,000 c . 230,000
. . C 15%, A 20 % ( B
18%). . A.B C

’ ’ A C ’ C Zzyo



A 20%; ) B C ’
22%, B 18%. , A.B
, A B
20%  18%). , A B
, A B
A B \ B A ,
, s . A.B.C
. , B C, A
C. , 0—30,000 , ,
C 200,000—170,000 , , A C
20,000—50, 000 . , A B
220,000 , ,
A 20,000 c .,
250,000—20,000=230,000
A :
200,000 X15%+ (230,000—200,000) X20%=236,000
A
36,000 o .
723o,oooX1OOA 15.7%
B 200,000 c
300,000—200,000=100,000
B :
100, 000X18% =18, 000
B
18,000 0 — 120
7100’OOO><1OOA 18%
C A. B ,

80,000+20,000+200,000=30,000

@

@
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C :
100,000X 5% + (200,000 — 100,000) X 10% + (300,000 — 200,000) X 15% =
30,000
C ;
30,000 0/ 1m0
3oo,ooo><1oo/O 10%

36,000+18,000+30,000=284,000

84,000
230,000+100,000-+300,000

X100%=13.3%

b b

104,000

13.3%,

B

3.

2

170,000

84,000, 20,000 . 16.5%
C. A 50,000 C.
250,000—50,000=200,000
A :
200,000 X15% =30,000
A 15%.,
B
300,000—170,000=130,000
B :
100,000X18% + (130,000—100,000) X20% =24,000
B
%%%%%x1mﬂ6:1&5%
C :
80,0004-50,000-+170,000=2300, 000
C :
100,000 X 5% + (200,000 — 100,000) X 10% + (300,000 — 200,000) X 15% =
30,000
C
30,000

0/ — 0
300’000><1oo/o 10%
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30,000+24,000+30,000=84,000

84,000

200,000+130,000-+300,000

b

X100%=13.3%

. , , 20%, 18%  15%
15%. 20% 15%. , A ( ) , B
( ) .
( ) .
( ,
)9 ’
A B C
) 250, 000 300, 000 80, 000
20% 22% 5%
A—~C B—~C
¢ |20, 000~50, 000 200, 000~170, 000 220, 000

20%  15%

18% 20%

15%




— 1745 —

(G (%)
10,000 10
10,000—20,000 15
20,000—30,000 20
30,000—40,000 25
40,000—50,000 30
50,000 40
25,000 28,000 s
o 28,000 55,000
40%%, 20%., ;

b

10,000X10%+ (20,000—10,000) X15%—+ (25,000—20,000) X20% =3, 500

3, 500
25, 000

X100%=14%

10,000 X 10%5 + (20,000 — 10,000) X 15% + (30,000 — 20,000) X 20% + (40,000 —
30,000) X25% -+ (50,000—40,000) X30%+ (55,000—50,000) X40%=12,000

12,000
55,000

X100%=21.8%

3,500-+12,000=15,500

15,500 0l .
2500055000 < 10076 =19 4%
15,000 \ 40,000,
25%, 40,000 25%, .

b A

10,000 X 10% + (20,000 — 10,0000 X 15% + (30,000 — 20,000) X 20% + (40,000 —
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30,000) X25%=7,000
7,000 X 2=14,000

14,000

=V 0/ — 0
éLO,OOO+40,OOO><100/0 17.5%

b b

) o s
4,500 ,
5,500X33% =1815

’

33%., 4,500

b

(5,500—5,000) X33% =165

b

o 33%.s
10,000

b

18,000X33%=5,940
20,000 33% =6, 600

5,940+6,600=12,540

b

5,500

b

5,000

18,000

b

5,500

b

33%,

5,000

b

5,000

20,000
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12,540
18,000420,000

N , 8,001 ,

X100%=33%

18,0(:)0—8,001:9999
20,000+8,001=28,001
28,001 ><33%:924:o. 3
0+9240. 3=9240. 3

9240. 3

0/ — 0
9999+28,001><100A 24.3%

, 12,540 9240.3
3299.7 33% 24.3%, 9 .
10,001 . , (
) ,
1,000 30,000 . ,

’ o ’

30,000X33%=9,900
0+9,900=9, 900

9,900
1,000+30,000

N s 8,999 s ;
9,999 , s o ,

X100%=31.9%

30,000—8,999=21,001
21,001X33%=6,9303

0-+6,930. 3=6930. 3



— 1748 —

6930. 3

0/ — 0
9,999%21,001><100/0 23.1%

2969.7 . 31.9% 23.1%.,
5,000 60,000 .
10,000 . ,

(60,000—10,000) X33%=16,500
0+16,500=16,500

16,500

0/ — 0
5,OOO+6O,OOO><IOO/O 25-4%

b b

(55,000—10,000) X33%=14,850
0+14,850=14,850

14,850

0/ — 0
10,0004*55,000><1OO/6 22.8%

b

9,900

5,000
55,000

1,650

b

b

2.3%.,

33%,



(D

”» “

@

3

@

)

1,000

800

2,000

200

200



1750

)

3

@

)

o

Vi

»

(

»



— 1751

. N 35%
; 10% 35% i 50% , .

“ ”»
b ’
)
“ ”
b ’ b
o o
o ’ o b
° o ’
o 9 o
b o b
o b
b s o
A b b
o s b
b o
’ A A A s ’
o o



(@Y

b

X




1993

(2)

2.
(@)

7

),

1

o
o b
’ o
o
o b
o
o
’
b o
9
“ ”
o
’ 9
o
“ ”
’
’
”»
b b
b o
b
’
b
o N
b b
“ ”» “
b
“
’
o
’
“
b o

”» “



1754

”»

”

N o
b
»
o
“
o
o
“ ”»
’
’
b
N
o
9
’
b



(6) N

D) N



20% ,
5%

: 100
. 120

: 80
: 120

5%
100

X 20% =20
X5%=6

X20% =16
X5% =6

26

80

22

”



— 1757

= + ) — (A= )
= X .
N 14 ,
_ 14 + 14 + X 25%
1— 10%
=194444. 44
=194. 444. 44X 10% =19. 444. 44
, 10 ,

10 +10 X 25%

= 0% =13. 8888. 88
=138.888.88 X 10% =13. 888. 88
5, 555, 51



1758

),

25% =4
10%=2.6

“
b b
0
R 7 17% ,
2.6 R
b
b
.
b
.
b
b
“ ”»
b
o b b
o b
.
N
b o
b b H
”»” “ ”
. :
b o
b b
b
; (
b b
.
b o

1.

19

”»



— 1759 —

s

)

1994

1

= (1+



1760

QY

(2)

3

(@Y
(2)
(3
4



— 1761

5 o
(6) . o

. 180 o ,

’ o ’
’ b
o b
’ b ’
b ’
b b b
o
b s o
b s A Y o
o
b o o



1762 —

3 6% )
= X (6%)
40 . 5.1 ( 25%),
17%.
1.
=40 X6%=2.4 .
2 ( )
=40 X17%—5.1 =1.7
= (1— ) X X .
= X X
. 6% :
. 6% 35.3% 17%
. 35.3%
; 35.3%
(G
. . 17T% L 13%. 0%,
H 13%,
(D . .
(2 . . . . . .

(3 N N o



— 1763

40%%
35%%
25%
15%
5%

«C
2 4 6 8 10 12
(4 N N N N o
(5)
, N 17%.
. . . , 17%
; ( ) ;



Y5
1994

33%.,

1

( )
{
, 1993
, 1993 7
3%,
5%—20%
{
1 ‘“

S

(
o

”



1765




— 1766 —

’
) ’
; ’
’ ’
b
N ~
’
’ ’ ’
’
2.
. b
’
b
N °
’ ’ ’
°
(G
1.
’ ’
. ’
’
. ’
’
~ ~
. ’
N °
2. ,
° :

100 % ; 100%»






“ ”» “ ”» “
N N
b b
b
o
“
’
o
“ ”
b
o
b
o
o

”



1769 —

1993

NS

@V
(2)
3
4
5
(6)
7
(8
(9
19
an

(@Y
(2)

(3

11

(

s



1770

4

5

(6)

(@)
(2)

(3
4

5

@V

(2)

3



— 1771

(D . . N

(2) s ;

(3 N ;

€Y . . ;

(5 ;

(6) N ;

P N N . .

(8 N N

9 . :
(10) :

“ ”»
A b
N o
’ o
Ay o
b b b ’
o ’ b
b b b
o b b
’ b
b
o b
b b
b b 9



— 1772

1.2%

5%

”»

5%

35%

12%

45%
10—30%

o



— 1773

o N N
’ N N
b o hY hY
b o
b ’ A
’ ’ ’
o
o
A b A
o
’
A 9 ’ b
b b b b
o
s ’ ’ ’
s A o

¢
1994 1 1 N



1774 —

(@Y
(2 N
3
4
5

X100 %

(@Y
(2)

@) N
(2)
3



1775

1899

18

20

§ )



1776




1777







1779




1780




(1) “
(2) “
(3) “
(G

»

»

N
b
N
9
b
b
o b
b
b
b
’
173

1000

”



’
5%
(G
“ ” “ ”
N ’
°
’
“ ” “
N

”)
o

”

”»



1783

D)

D)

: 199X X,

347500

o

: 1990

17
7.1

’

>> 7 “

1991

93.9

14 3

45

” <<

1986

)

42,

34

”»

o

189, 510

b o

(

(

101 s

1991 3 11

24, 401.26
900 s



— 1784 —

1989 5 11

10881. 64

“ ”» “

......

“ »
“ ”»
10881. 64

7, (84)

......

210



1785

759782. 84

30203. 56

o

(

: 1990 7,
, 1989 1990 1—5
249002. 50 1006785. 34 0 ,
(86) 024 « Vi “ N
”9 ’ 3%
, 2114. 25 604. 07
”’ “ 10% ”0
3% .
>> ’ ’ ’
: 1990 9 19 s
:1990 7 1989
N 359375.90
“ (84) 312 2 6 “
359375. 19 10781.25 754.
224.63 7 31 .
312 . “ .

84

68



— 1786 —

o ( N »(C84] 312

2 6 , - N N N
2 1 y “ .
”» . 2 1 b
. 6 s o
(84) 312 ¢ . y 2 6
, > ( )
(84) 312 2 1 2

:1990 8 s

, , 1989 10
. , 1989 11 1990 7 ,
4108349.80 332061. 67 8% .
, 3% . 1990 9
1990 10 , 11
: , 3%
. 8% .
. . 1991 1 15
, , 1989 10 ,
, 3% .



. ’ . 444 . ’
: . 1989 12 , .
, . 1990 9 ’
77890 16% .,
90350 . . . 4635.71
580.80 4054.91 ,
. . 700
( )
; ; 16% .,
. « » 5
: . 1989 12
1990 8 35550 77890 42340
\ 1990 8 .
2500 ; 10 ,
7.07%., , 1989 12 1990 8
34315.94 . . . 1746. 68
, 580.80 1, 165.88 2889. 03
. 700 . . ,
. 1990 6 12 .
, . 1990 10 22
44.94 3.59 , 60 . ,
8 . ,

44.94 3.59 60 108.53



1788

’

------

1990 10 26
( ) 1990 10 21—24 . 41
b 4 b b b
) 11 6 8000 ) 11 16 s
31682. 36, 2217.77 638. 65
34533.78 11 20 o ) 11 21
; 8%
o ( > 6 7
. . , . 3%
: (D ( »
“ ”» R << >> s “ ”
(2 § D
3 ( ) 38 “ N N ,
o (
2 “ ,
. ; 37

37



— 1789 —

5%0 ? s o
3% ; .
( )
, 1989 (
) , 92.424 o
1990 5 28 ,
) 1989 92. 424 ,
N 191. 055. 47 0.3 ) 1990 7 27
, 45. 359 . )
. , 1990 6 20
) 45. 359 1989
20 s 77199.42 s
, : 77, 199.42
s 45. 359 ,
o ) 47.065 s
s s s 0.3 R
1990 6 ,
( Do . ,
’ ° 23 ’
) 126 o ) 7
N N 753 o
1991 9 s

. . 1990 6 , s



1790

18

23

1990

4

(

o

b

§

15

)

2.2

§

o &

»

)

2.2

36, 37

5000

) 19

(

4.4

15
13.9

)

’

16



— 1791 —

) o 8.9 , 2000 s
5 o
3645000 3608550
: (D , .
386000 5 (2) ) ,
s 5000 ; (3 s
s 100 o
» (D) ’ ,
, ) , 3 (2D
) ) : (D 108,
256.50 5 (2) , ) ;o (D)
N 30
: 1989 7 (
“ ”) 1988 )
81939.84 73090. 34 N N 8, 849.19
, 632, 224.38 s 15189. 02 , 474,
625.93 72, 377.42 N N
73919.60 130, 199.62 , 51, 663.93 , 255.783.15
. . 0.371 20, 000
o 1990 9 25 s 1990

10 15 N o



— 1792 —

1988 s
50, 1:1.01, 1:2.02, 1:1 ,
1:1 s .
, 1988
. 33, 351.69 3
s 1990
1991 1 14
1. N N
8, 849.50 ), 33, 351.69
s 49417.41
2. N
45133.29 ) , 226996. 84
3. 20, 000
. 1990 & 15 .
( ) 1990 17
10739.74 s

2 2.17 ’

266, 682.54
41, 228.15

82, 769.10 (
8, 849.50

b

o

226, 996. 84 (

’ o

b

2009.70 . 8

N

’



— 1793

1. 1079.74 751.78
107. 40 , , .
2. , 1990
2009. 70 140. 68 . 20. 09 .
, . . ( )
, 1989 1—5 1.5 , 7%
1, 134 . 1989 5 22 ,
., 1990 8 10 .
(GO , 1 .
(2) .
(3) 1.5 \ . 1.5
( Dy .
€Y . .
. 1990 8 25 .
. 1990 9 13
. , 1989 15
, 1990 12 21 .
, ., 1991 1 9 , ,

oY , ,



— 1794 —

(2) o 1989 1—5 1.5 ,
( \ 8745 1989 ,
( Do
(3 ) , ) o
. 1990 8 1 ., ,
, 8§ 1 9 1,
17, , 8 82.30
4.11 30 0 s
, , , 4
» 4 o
, , 1990 9 22
; { ) 16
s { » 36 3
Q) 3 C ) 8
82.30 ; C ) 250 10 22 .



— 1795 —

’

. 1990

1988 2
1990 9

1990

14268. 52

1990

1990

1991

9

: C ) 19903 1 ;
, . » 1990
s 1987
220193.48 7134.26
s 19268.52

, N 10 s
, 10 22

12 20 o ,



— 1796

9 o b 2

154200 s

, o ( ) ,
( ) ,
: 1989 9 ,
1988 3 , , ,
o N , 34, 357.65
, 1989 10 10 ( s
4, 239.88 500 o 500
10 14 ( s 4751.28 . 451. 44
500 . 10 23 XX »
10 25 , o , 10 24
. “ , 10 7, 10 25
. 12514.14 , 1990 3

13 , 10174, 83 . 3



1797

Vi

.17

1990

)

37

)

)

3

40

3710. 63

16

¢
12514. 14

b

(§

b

(

b

§
6464. 20

b

) 40
.7 1990 3
10
1990 5 5
) 11 2

’

18

b

Yo

(

10

)

.7 1990

17

12

(
(§

1988
18

5>

37

3

§

)

1989



— 1798 —

(XX i
( Y 1988

6464.20 (XX ) 20
1000 N ? o

( »s 2 , .
1987 5 1

590 . 1990 ,

)



1799

T3
3 2.
100 o
( )
, (
¢
19 XX ,
500
143500
, ( )
(G

: 19X X ,

Vi

XXX

450

30

143500

N

o

143,



1800 —

5%
o 4
) . “
1992 1
, 42000
4
)
10000 ,
1000 . .
10%,
( )
10000 =+ (1—10%—10%) =12500

12500 X 10%=1250

(

b

352185

”»

10000

250

b

8000

(1250—1000),

48000

b

10%

8000

b

’

b

2000

6000



’ 10%’ o b
(48000  +6000 ) X10%, 5400

__ 48000 46000

0% =60000

=60000X10% =6000

, 60000 6000
. 3600 .
(G s s
: 19X X . , “ —
o 718261
259809 s 25970
(G s .
19X X y .
. , 10200
§ ( ) Vi “
¢ , ,
: 19XX X, ,
87) 345 s “
(G ,
19X X 10 s
, 8000 , 40000 .
§ ( ) ) “ N N



(G
19X X 7
(
)
84D
)
19X X X
8D
)
: 19X X 10
(87)
)
: 19X X7

19X X 4
80, 000
210
210
, (
045

5%

)



1803

1989

1989
100000

30

11,

1989 “ ”» “

2780000

’

1988 7

10
s 250000

) “

5000000
35

o

”»

“

120000

’

700000

b

b

”»

~

1987

“ ”
250000
1988
30000

1990 7 .9

40



— 1804 —

, 30000 0

— 50000
40000
10000

s 10000 o

: 1989 7, 450000 s
“ ” , , 67500
s 450000

“ ” “ ”
’ ’
“ 2” “ ”» “
° ’
”
’ s o ’
’ °
“
’ ’ ’ ’
”
) ) ’ ’

15% 675000
( ) s

1988 1989 . (D .
600000 “ 7 , i (2

650000 200000 “ ”

i () 400000 “

” ; 130000 “ ”
“ ? o , ( » s



— 1805 —

. 240000 200000
40000 .
¢ ) , N ,
240000 200000 “ ” ,
( ) ,
1989 , 600000
25 , ” 350000 .
660000 6 ,
, 60000 ,
( )
\ 1987 1989 9 , .
30000 5000 400 100
12500000 160000 12660000
11560000 800000
4, 250000 300000
150000 30000 70000
. 300000 .
( )
. 1989 “
2.5% , 1987 1989 5000000 . 20
2500000 2000000 500000
{ ) “
”
. 10000 , 1990000
500000 , . ,
500000

( )



— 1806 —

425%
90000
{
( )
0.16 .
( )
77077
( )
6%,
( )
»
( )

500

)

§

32.6%.

124 ,

, 1—10

2080

6%

b

150
15000

”»

300000

b

10%,
43000

o

o

o

750000

)

’

185210

28

89250

o

140140

b

§

“

180

b

b

(

12340



: << S >> ’ ’
, o 1989
108500 , s o ,

’ ’ ’ A

: s 1989
200000 o & N ) ,

), , 200000 , 40000 20%

22 1802430 o
( ) “

b b 6 b
261138 . ) “

, 1986 4 7



1808

o

109. 28

287925

“ ”13000 L4 52000
. « )
( )
. 7 30
14 , 11
p)
( ) .
. 1988 500 .
1267000 ,
( ) ,
,1988
105000 . “ ”, 1988 12
« 7, “ ”105000
420000 1.4
1988 ,
10% ,
( ) ,
1984~1986
, 200000
1988 12 .

o

b

1989

1)

10
21X21
116.35
7.07
, 1988
.

341078 . 1989 2

1988



— 1809 —

(1992 9 4
1995 2 28
( ( ) ) )



1810

30

30



1811







— 1813

N . N
3
N
N H
N
N
N
H
’
H
N ’
’
°
’ N ’
N
°
. .



1814

2000

2000

’

b

2000

2000



1000



1816

60

60

15

. 1986

15

4

21

15

15



1817

134

12 13

1993

)

17%.,

17%.,

13%:

~ o~ ~ o~



1818

10%

N AN AN N AN

~ O~

6%



1819

~N AN AN A~



1820 —

(

1994
PN

1

(

. 1984

9

18

)

)



— 1821 —

~N AN AN A A

(

1993

12

25

(93)

) (

38



1822




— 1823 —

2000 s

, ( ) 100



600—2000
200—2800
50—380

1+

180

o

o



— 1825 —

~N AN AN AN~

~ O~~~

)

”
N

PN

”»

. 1984

9

28

(



1826

[1993]150

27

12

1993

~ ~

- — A B B S N B~

N AN AN A A

N T e



1827

NN AN AN A A A

RN N S

N AN AN A~

N

~ N o~

~ N~



1828

~N N ~N ~ ~ ~



1829

~ N ~ ~

~ N~

)

)

1

1994



1830 —

(

)



1831

1994

1

)




1832 —

1. 45%
2. 40%
3. 40%

4. 30%

1. 25%
2. 15%
3. 240

4, 220

5. 10%
6. 5%
30%
17%

N 10%

. 15%
0.2
0.1
10%
10%

( , ) 2200 8%
(2200 )

1000 —2200 5%
(1000 )




1000

2400
2400 )

2400

2000
2000 )

2000

22

5%

3%

5%,



— 1834 —

(

(
(5

1993 12 25

(93)

) (

(§ ( ) )

“
“
~
’ S
“
b
N
“
b

780

39

”»

780



1835

=988
=962
=1388
=1176




1836

”»

»

”»

”

”»



1837 —




— 1838 —

1993

12

13

136

»

),



1 1 1 ., 1984 9 18



1840 —

. . . . 3%

NN 3%

5%

3%

3%

. . OK . N N 5%—20%
N N . N 5 N 5%

. . . . 5%

5%




1841

(

1993

12

15

(93)

M

40



1842

~N AN N A~

~

X+

(1







200—800 ;
(G 50

~ N~ o~
~ O~ O~

)



1845

)

o

1984

9

28

(



1846

137

12 13

1993



1847

N AN A A A A A A

~ v v v o



— 1848 —

1994 1 1 . 1984 9 18 (
( )« »,1985 4 11
§ ».1988 6 25 §



— 1849 —

1994 2
(
(G
(G
= X
(I
( ) ,
(G

(91

»(



1850




1851




1852 —

2000



1853

~ ~

N N T T o = TN B L R Vo B Ve S U

~—

5%



10



(

)

1/12

1/4,

12

31

60



— 1856 —

12 )
¢ ,
( ) b 9
( ) b ’
, ( ) ( )
) ; ) ( )
§ ) o
1984 10 18 § ( ) ».1985
722 ( ».1988 11 17

§ )



1857 —

(1980

9
1993
(

10
10

31
<

b

b

20% ,

5%

20%.,

45%(

30%.,

i



20%



— 1859 —

Vi

(%)
1 500 5
2 500 2000 10
3 2000 5000 15
4 5000 20000 20
5 20000 40000 25
6 40000 60000 30
7 60000 80000 35
8 80000 100000 40
9 100000 45




1860

(%)
5000 5
5000 10000 10
10000 30000 20
30000 50000 30
50000 35




1861

(1994

(

365

90

90 s

1

28

LG

30



20000
20000
50000

o

50000

’



1863

(

)

800

~N AN N A

~



1864

30%

800

o

3200



30

30

1994

o

1987

8

12

31

§

»



— 1866 —

1993

12

25

139

)



1867

18

)

1994 1 , 1984 9 ¢
( )DL )) .

8—30 /

2—15 /

0.3—5 /

0.5—20 /

2—30 /

0.4—30 /

10—60 /




— 1868 —

~ AN AN AN
~

30%

(

1993 12 30 (93) 43
) (
§ )
. (
, (
»

)



1869

)

o

1984

9

28

(



1870

138

12 13

1993

),

I e e



— 1871

1994 1 1 . s



e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e

R R e e e e

e e e L e C e e e e C e C e L C e L e C e e e e e e C e C e C e C e e e C e e e e e C e C e C e e e e e

e e L L L e e e e e e e e =




Green Apple Data Center



Green Apple Data Center



1875

A Y
“ ”
’
.
’ .
’
N
°
H
°
.
’ H

¢ 12.1. D),

12.1.1



@V
(2)

3

4

12.1.2

)

12.1.2),



QY

(2)

12.1.2

)

12.1.3

12.1. 3,



1878

(@Y

(2)

3

4

(@Y



— 1879

(2) o

3 o

4 o

12.1.4 o s

12.1. 4



1880 —

D N 5
2 ;
3 N ( N )

4) R H

(5) ;

(6) . ;

) ;
(8) ;

€D . 3

(10) ;

an . ;

12

“ »
b
“ ”
b b
2.
b ’
Y s b
b
D
b b ’
’ b b b
’ b
b A} b
Y ’

® e



1881

SECRONCH®)

)

3

4

12.1.5

»



1882 —

@V

)



(@Y

(2)

(3

4



1884

(@Y

(2)

3

(1):

(2):

12.2.1:



— 1885 —

(@Y
(2)
3
4
5
(6)
D)
(8)

(@Y
(2)
3

12.2.1




1886

4
(5
(6)
D)
(8
9
10)

(@Y

30

60



— 1887 —

@) ;

(2) ;

(3 i

€Y) ,

(5) ) ;
(6) ) . ;

7 ;

& . , ;

9 ;

10)

¢

(@Y



1888

®©6 606062

OO

@V

(2)

(3



1889

(@)
(2)

@V
(2)



1890

@V
(2)

3
4

5
(6)
D)
(8)
9
10
an



1891

(@Y
(2)
3
4
5
(6)
D)
(8)
9



1892

SESNCRC)

CNCHCHE)

10

11.



— 1893 —

(

12.2.2),

12.2.2



— 1894 —

(O
(2)

(D

(2)

(@Y
(2)
3
4
5
(6)
D)
(8
9

)



— 1895

(10) :
(1D . . . .

a2 ;
(13 ;
QEY) ) ;
(15) , . ;
(16) , ;

an )

(18) s ;
(19 3
20) o

b b
o
b
o ’
o
’ b
b ’ o A A
~ N
9 o
b A
o b o
b o
b o
N A b b A
b o
o
b o b



— 1896 —

(@Y
(2)
(3
4

(




1897

12.2.3



1898 —

( 1000
100 10 Do

D ) ,
(2 ) ,

(€)) ,



1899

)



1900

),

3/4

— o B+ 8 S Y B oo

S
—

—
—

i oy
—



1901

12.3.1

12.3.2



1902 —

[ IS B N RN

(1)

@)) ;

(2 ;
(€D ;

€Y

@) , )
2) ’ H

(3) ;
4



1903

(@Y
(2)

3

(2):



1904 —

@) o
(2) ;
3 ;

€Y 3
(3)

D ;
(2) ,
3 .

D o

(2)

3



4

(@Y
(2)

3

@V
(2)
3
4

5
(6)

@V
(2)

3



1906




1907

100

@V

(2)

(3



1908

10.

© 0 NN O Ul = w DN =

— =
= O

—_
Do

@V

(2)
3

(@Y
(2)
3



1909




1910

— N o <



— 1911

Ol W DN =

12.5.2

D U1~ W DN

12.5.1 *“

1—100
101—200
201—300
301—400
401—500

501—1000
1000

“* ( 10

12.5.1, 12.5.2 12.5.3),



1912

(@Y
(2)

3
4
5
(6)
(7
(8

(@Y
(2)

12.5.3 “

$ 5,000
$5,001— $ 10,000
$10,001— $ 20,000
$20,001— $ 30,000
$30,001— $ 40,000
$40,001— $ 50,000
$ 50,000



— 1913 —

(3 ;
€]
5.
6.
7.
| |
v
| |
v
| |
v
| |
v
| |
v
| |
v
| |
12.5.1
1. )
2. :
@b) ) ;
(2) )
3. , H
4. ,
5. s ,



1914

(@Y

(2)

3

4

5

10.

11.

12.
13.



— 1915 —

(

12.6. 1),




— 1916 —

12.6.1



— 1917 —

( ),
, ( )
( )o ’ ’ ’
113 15 3 7
o ’ ’ ] ~ 4 N 8 N 2 N S N 4 ] o
11
8 4 o ’ ’
, ( ) 1/100, o
“ L” “ i”
, . »*50,50 2 ( 50, 5 )
50 50l 3 “50
’ ’ 2 3 ’
1 ” “ 1 ”
50 1000 50% 500
, ( )
s 10 .100 , 500 1000



1918 —

12.6.1

( )

1—100
101—200
201—500
501—1500
1500

50
80
100
150
300



1919 —

(@Y
(2)
3

(D



1920

~N O Ul B~ W

)

)

55% ,



1921




(@Y

C

(2)

, LS
61

o

12.6. 1JLS NORWAY
60 100 ; LS
NORWAY
58 . LS

’ b

o

12.6. 2JLS 60

9LS H

Do
58
( N
NORWAY
61
, LS

100

100

65



3.
, ( )
C 12.6.3JLS NORWAY 100
, 95
95 ,
100 7, : 95 s
90 ) 90



1924

C

C

12.6.5]

)

1

“50”

30
1
@950549
),

50



— 1925

o 12.6.6) 50 0, ,
“ i l i” “
192,49 150,50 17,
” “ i” .
: 450 5 ,
1 “ ”
C o5 507 ( ).
3.
55
“ 1”
o 12.6.7) 50 17, 25
“ l” i “ l” “ i”
50 1 ( 4) , 50 5 ’ 50 5
o 12.6.8 “50 % 25
“ l” i “pn» “En»
50 1 ( Do 50 . 50 .
2)
C12.6.9 : “110,112”,
« ”» « l”
117, 1147,
« i” i
10 27, P .

3



1926 —

C 12.6.10]
C 12.6.11]
€9
C 12.6.12]

“ i”

. » 749 2
“ i”

40 1
5
C 12.6.13]

« i ”
49 1 507,

’

(6)

D)

55
“ i i”
56,55 555,54 7

(
30
w9g L o9 T 1,
29 5129 30,30 7,
(
50
“ l
50 - 49
“ l”
19
50
50

”

25 ,
“55” s
1 “ i”
4) » 54 1
50 ,
“30” s
1 “ i”
25 49
1 3 » “ i”
?,49,48 T 49 5
1
( Z)
“49” R
25



— 1927 —

C 12.6.14] NORWAY 200,
80 50 81 50 82
50 83 50
(€]
€D
s (
, )
o ( )
(
) H ,
, (
12.6.2),
XXX
19

12.6.2



— 1928 —

O Ul B W DD e

( 12.6.3):

11.7. 4

(2):



1929

1.
( , ) (
) ,
2.
C 12.6.15]
“ i é ”
20 3 ,20 3 22,47,
, 20 &
3
(20 g) ’ .
1
g )o s ’
s 20 -
4
o , 20 3
“ i”
, 20 3
(G

200
1
§(
20 -
5
20 3
5
20@ ’

100 5

6
20 3

6
(20 g)

4
20 3

400

”»



— 1930 —

12.6. 15, ) : .
C 12.6.16JA NORWAY
o , NORWAY
NORWAY
] 53 168
NORWAY | 87 | 163 | 165 16 167 165 165
( aA 90);
163 1.63 ( ) ; 1.63
; A NORWAY
; . NORWAY JA
, 1.63 0.01
64 , , “87” “63”
NORWAY
53 168
NORWAY | 90 | 164 | 165 16 167 156 165




— 1931 —

, o NORWAY
168
NORWAY 165 | 46 | 167 161 164
s ( 11.7.2 11.7.3),
N o 12. 6.4,
| ¢ |
| ¢ |
v
12. 6.4
(3):
12.6.17JA B 100 ,B 100 C

@

. A B ,B



— 1932 —

; , B : A C
C o 12.6.187A B 100 .B C
200 . A B C 100 .
O 12.6.197A 1100
1000 . A 100 .
1. H
2. , :
3. .
12.6.5.
C12.6.200 1989 10
( 12.6.2 12.6.3). ( 12.6.2).
| ¢ |
| ¢ |
12.6.5
12.6.2
1989. 10. 28
NORWAY | 200 | 18 % $3,700. 00 A
CAIP 200 9. 00 1,800. 00 B
LRR 300 | 17 % 5,175. 00 C
LS 500 | 43 % 21,947. 00 D

28



— 1933

GS 400 | 25-=— | 10.700.00 E
AC 300 | 52.00 | 15,600.00 F
BS 600 | 22 % 13,500, 00 G
NM 800 | 34.00 | 27,200.00 H
GE 300 | 182 | 5,625.00 I

3,600 $105,237. 50

12.6.3
1989. 10. 28

NORWAY | 800 20 $16,000. 00 L
GS 500 | 26.00 | 13,000.00 M
BS 100 | 234 | 9,250.00 N
LS 500 | 42 % 21,062. 50 0
LRR 300 | 19.00 | 5.700.00 p
GF 100 | 31 % 3,112, 50 Q
AC 100 | 54.00 | 5,400.00 R
GE 600 | 18 % 11,325. 00 S

3,300 $74,850. 00




— 1934 —

12.6. 4
1989. 10. 28
AC 100 300 — 200
CAIP — 200 — 200
BS 400 600 — 200
LRR 300 300
LS 500 500
GS 500 400 100 —
GF 100 — 100 —
NORWAY 800 200 600 —
GE 600 300 300 —
3,300 | 3,600 1,100 1,400
; 3300 . 3600
1100 . 1400 o 105,237.
74,850 ) 30,487. 50
’ b (
12.6.6,
A B

12.6.6




1935

»

”»

(4)



— 1936 —

1. ’
2.
( 12.6.7),
| |
v
| |
12.6.7
) ( 12.6.8),
X X X
1.
2.
12.6.8
1. ;
2. ’



1937

— & < e

— e <

3~5



— 1938 —

(5):




— 1939 —

(@Y
(2)
3
4
5

12.6.9

12.6. 10,

12.6.10



1940

)



1941

(“

”)



— 1942 —

)
Coo12.7.1) 1982. 2. 1 NORWAY 1100 ( 51 %
)7 A b
, NORWAY : A (1982. 3
). 14, , (NORWY 61 %
) 1982 3 y
(3 154.13)

=141X500—154. 13X 500

——6565( )
, 6565 . : 2 3
- X
, 50,100 500 . “500”
500
( )
. ., 2 2 ,NORWAY
51 % , 71925 (=51 %XMOO),
70500 (=141X500), .
b b b ( ) o
, 6565 . 13650 (=61 %x 1400
3
51 3% 1400), 7085

8



— 1943 —

6565 s : ,
o s 500
(G
C 12.7.2] s , 1 .
82 6 30 H,9 30 157, 9 30 s
127.50, s 13137. 50 (=79287.50—66150. 00) ,
15000. 00 (=157.5X500—127.50X500), s
( Do
1982.6. 3 1982. 9. 30
1 3
A 100 53 v 43 v
3
B 100 68 51 )
. 1
C 100 38 3 36
1 1
D 100 53 3 38 3
7 1
E 100 61 g 54 >
6 6
F 100 67 3 39 -
. 3 3
G 100 45 1 48 1
7
H 100 68 84 3
1
1 100 92 — 40
4
1
J 100 47 58 >
1 1
K 100 33 T 40 T
3 3
L 100 25 T 20 =
5 1
M 100 38 3 35 3

©
=
[0}
o~



— 1944 —

79287.50 66150. 00
()
C 12.7.3] 1982 2 NORWAY 4000
( 3 ),
o NORWAY 4000 72000 , 3
, 70500 (=500X141.00), 3 s 80000 » NOR-
WAY 4000 84500 , 4500 ; ,
3 , 77000 (=500X154.00),
6500 , 4000  NORWAY .
( ),
(G
C 12.7.4] 24 , 1080 ( 45 ),
150 3 s (500 X 145, 48 X 150=)
10911000 o , ° ’
, , 150 143. 38 s
o 10720000
o : 80000 , 157500 .
s 77500 o , s
80000 .
, o (
) .



100

(@Y

(2)

3

4

’

5—-15%.,



2.
3.
(D)
1.
NORWAY (
7 ,
.NORWAY/7 /50P,
55 \
5,000 =5,500
(1,000
100% ,
2.
55
50 .
( 50

—500

, NORWAY

) 50
:NORWAY/7 50/
,100 500 .
100 ( 5,500 , 11
60 , 1.0 .
—500
)X 11=5,500 .
500 /5500 , 9%,
58 . 500 NORWAY/7
NORWAY .
), 58 ,



— 1947 —

o , (500 )
. ) 50 , .
3.
20 ,
( ) o
70, 7000 ( 100 ), 800 s
( ) 6200 5 ’
4,
o 50 100 NORWAY , 500
NORWAY/2 /50 . 4500 .
(D 5 ( , )
(2 50 , ,
) 500 . ( ),
(€)) 5 ,
5000 o ,
45 o s 45 ,
45 o
o.
o , o 40
s 60 NORWAY 100 2000

; , 600 s 1400 o



— 1948 —

NORWAY , ( s
Do .
o s 1983 1 IBM , IBM /1)
85 ( IBM 1981/4 ,
90 , ) IBM/1 /90
, ; IBM/10 10 s s
N 1983 4 9 o
6.
50 , 60 NORWAY
s o 60
60 o ,
Q) , (
) o
(2) . ,
7.



— 1949 —

1.

2.

3.

C )

1.

NORWAY , ,
o 50 s
(2,000 ), ( )
30% , . 40 ,
( 100 )
5,000
4,000
1,000
1,000 /2,000 =50%, 50% X12=600%.
400 , 2,000 .
1,000—400=600
600X 5=3,000
3,000 /2,000 =150%, 1800%
4,000 , , .
55 ,
2,000 , 100 %,

55% (1,000 /2,000 )

b b o



1950

NORWAY

50

)

C 12.7.5]

1000 5 3
60

, 0 400
50 , 54 s
. 80 ,
) o ,
s (
; 50, 100
3 s 1000 . 3
50, ,
, 50 s , 40
s ;3 , 50



— 1951 —

)
1.
. ( ) ( )6
. . NORWAY/12
/50 7 , 700 .
. . 50 % .
50 , 2,500 .
) 100%.
( ) o
+ . , NORWAY/12 /50
700 , 43C  50—7) 57C 50+7) . 43,
; 57 .
. 700 .
300 400 . 5
. 5 (S—X=5), 5 (X—S=5),
. 100 , 300



1952

S=60
50,
60 , 1,000
50, ,
50,
, , 50
( + ),
) ( )
) . 90
80 , ,

90

1,200

100

70



5.
(G
1.
2.

50 100 s 100
, ; ) 100 (
50 5 ); , S5

’ ’ 5 K ’
3.
) o
3
C 12.7.6] 140¢( IR 2 T
5 o 5 10 160,
(160—142.75) X500=28625( )
, 160 X 500=280000( ) (

) 8625 (=80000—142. 75X500),



1954 —

), o
( s “ ”)o
) o
¢
C 12.7.739 s
o 12 135.00, $ 1700 12
135. 00 o , 12 140. 00,
12 ( ) $ 3400,
$ 3400 , $ 1700 .

$1700 ( Do



— 1955 —

,12 135. 00,
135. 00, ,
\ $ 1700 — ,
$1700; 3 ) ’
)
o ( ) ,
)
( )
C 12.7.871 . 3
142. 00, $1.,000 3 .
,3 138.00; , $2,000; ,
$ 2,000 $1,000 ( ),
, $1.,000 ( ),



1956 —

100

)

50%

1000

30%,



— 1957

0.5_1%7
(

12.8. 1]

480

2.4

50 .
20% ,

60



1958

20% ,

50%,

2.88

b

b

”).
’

’

2.4
60
9600

4800

(

(

o.

76

2.4

40%,



1959

(D)
C 12. 8.3 2.5 ,
50 , 1000 , .
20% , 40 , 1000 A
( \ , )
LA
(
. , A
1000 6 . 5
, 1.5 ,
M—r
R, 1-+r
Ri— 3
M—— ;
I o
50%,
30%, D:.
_50%—30% _ 0
Rﬁ—]%%o% =15.38%
, 15.38%
¢ )
C 12. 8. 4] 1985 1000
1985 , 70
, , 1986 \
, . 2000
s 1986 , ,
10 10
. 1986

50% . A
5 .
4 . 1
40%
20% . 60
1
25%,
(D)
, 50 .
2000
1986
, 100
0 . ’
, . 2000



1960 —

10 10 2000



1961

”»



1962

<+ 8 S ¥ B o

10.
11.
12.

5%



— 1963

2.
3.
4,
C 12.9.1] 100 ,
1
19,19?
3
19,19§
1
18,197
5
19,19 g
“ i” “ l”
19 3 19 > ,
20 o s
“ i” “ i”
, 19,19 g 19 3 100
20 s H
“ i”
19 3 , o






1965

)



1966

§ 15

(1993

2

9

1993

”)

I N T T T T N

N ™ N e



1967

~N N N A A

~

~ AN AN~



1968

N AN AN A A A

N ™ N



1969

”)

”)



1970




1971

§

D

(

~N AN N A

~



1972

AN AN A A A A A A

A N N N

N AN AN AN A A

N e



1973 —

(

§

)

)

»



— 1974 —

) o )

, { N
) o ,

( o« >



1975

SARURRRRRSRRRR,,

%
%
%

% ~
%

%
%
%
%
%
%
%
%

%

8

CRtETRTEIEY

327
1993
-

1987

2
121

s

=N
»

;Eg
(

% ~

%

<
&

TR R R R R

=
&

R R R R R R R R R wwtw

TS

<%



1976

~N AN N A

~N N N A~

~

NN AN AN A A A A

~ v



1977




1978

)

§



— 1979 —

~
”)

(1993

4

22

”)

35% ;



~N N N
~ O~

s 3000 ,

25%.,
10%;
10% s
3 ;
b 30%’
20% , ;
12 ;
12 ;
( “ 7’)



1981

30

20

~ N~ o~

~

~N N~

~ N~



1982

NN AN AN A A A

R N N



1.

5

5000

1000

1000

H

10

5000

15

90

H

3000



1984

20

~N AN~

~ N~

10

N AN N N~

~ v

5%

5%



— 1985

30%

b

5% ;

45 .



30

50%

b

12
30

30

90 %

b

75%



1987

60

120

N AN N AN~

~

5%

~N AN N A

~

~N AN N A

R I O e



1988

N AN AN AN A A A

N ™ N O

23020

5%

2%

10

5%



1989

30

N AN AN A A A

N ™ e

30



1990

50

.5000

30

~ N o~

~ N~



1991

-
KN
IS IS
N
~
N ° 3 ~—

”»

o o
°
-
b
IS s =
S EE
T ¥ ¥ 0%

~ N~

”
”
”»

”»

~ N~



)“
)“

”

”»



	返回分卷目录
	打印《中华人民共和国股份制操作全书》（中卷）
	打印机设置
	《中华人民共和国股份制操作全书》（中卷）
	第九篇  公司会计管理
	第一章  公司会计概论
	第二章  公司资产估价
	第三章  公司收入与费用
	第四章  公司股份的会计处理
	第五章  公司债的会计处理
	第六章  公司投资的会计处理
	第七章  公司盈余分配的会计处理
	第八章  公司增资减资的会计处理
	第九章  公司合并的会计处理
	第十章  公司清算与重整的会计处理
	附录一  中华人民共和国会计法
	附录二  企业会计准则
	附录三  股份制试点企业会计制度
	附录四  关于会计基础工作规范化的意见
	附录五  会计基础工作规范
	附录六  关于《会计基础工作规范》的说明

	第十篇  公司财务管理
	第一章  公司财务管理总论
	第二章  公司筹资理论与短期筹资决策
	第三章  公司中长期筹资决策
	第四章  公司资本结构优化
	第五章  公司长期投资评估
	第六章  公司短期投资管理
	第七章  公司股息和债息决策
	附录一  企业财务通则
	附录二  股份制试点企业财务管理若干问题的暂行规定

	第十一篇  公司税务管理
	第一章  增值税纳税指南
	第二章  营业税纳税指南
	第三章  消费税纳税指南
	第四章  资源税纳税指南
	第五章  进出口税纳税指南
	第六章  土地增值税纳税指南
	第七章  企业所得税纳税指南
	第八章  个人所得税纳税指南
	第九章  合法避税指南
	附录  新税制法规汇编

	第十二篇  公司证券管理
	第一章  证券与证券市场
	第二章  证券发行市场
	第三章  证券交易所（1）：组织、结构与功能
	第四章  证券交易所（2）：证券商
	第五章  证券交易所（3）：证券上市
	第六章  证券交易所（4）：交易程序
	第七章  证券交易所（5）：交易方式
	第八章  证券交易所（6）：保证金信用交易
	第九章  场外交易市场、第三市场与第四市场
	附录一  禁止证券欺诈行为暂行办法
	附录二  定向募集股份有限公司内部职工持股管理规定
	附录三 
企业债券管理条例
	附录四  股票发行与交易管理暂行条例



	F1: 
	g33a: 
	g333: 
	h2333: 


